[CB-B417]

AT THE END OF FOURTH SEMESTER
(CBCS PATTERN)

FOUNDATION COURSES — ANALYTICAL SKILLS

(COMMON FOR B.A. B.A. (PHIL), B.Sc, B.Com. (G),
B.Com. (V), B.B.A,, B.C.A., B.Sc. (F.T.) B.Sc. (ANIMATION),
B.Sc. (FORENSIC SCIENCE), B.A.(OL))

(From The Admitted Batch of 2015-16)

Time : 2 Hours - Maximum : 50 marks

1. Answer ALL the questions. (10 x 1 =10)

(a) The following Table shows the quantity of
goods exported from India to Six countries in
the year 2017 in Tonnes.

&e 1808 5@5 PPEHRT0 DG DVHO 2017
JoNS® 6 B 200G S AHHBD
SUSAISIVA
Goods (in Tonnes)
SR0pen (L2:808")

Countries (@3°e0)
Bangladesh (worrd%) 180 120 140 230 20

Sugar Wheat Jute Cotton Rice
(Soderd) (R%o) (@3%) (©98)  ($8)

Srilanka (3005%) 120 380 180 120 40
Singapore (2oX30) 250 220 260 200 80
Pakistan (83x) 110 60 30 20 10

Indonesia (go&'aagir) 320 290 480 20 30
Thailand (grodoeroé) 50 420 230 160 10
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(i) How much quantity of goods exported
from India to Indonesia according to

cotton? [ ]
PRSBBE0 B008 BOERNCIT® 0B S
MOVD DVEI0LW0H?

(1) 60T 2) 30T

3) 20T 4 110T

(i) How much quantity of wheat exported
from India to Srilanka in 20177

[ ]
2017 %5 JoneS® Ro&asr 0odé oo Jod
REEIR00R0 DA DRETRK?
(1) 180T (2 120T
@) 200T  (4)  380T

(111) What 1s the difference between the
quantity of sugar Srilanka exported
from India and the quantity of wheat
exported from India to Bangladesh?

[ ]
PPEBLB0 008 FO0E HoDTE IHORL,

OITDE  RUGR00  JMBBes  B0gyTe
DJBV0 JOB?

1) 50T 2) OT

3 100T (4 180T

2020 'a) rFrervws wa a2 =l
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(iv) The export of Jute to Pakistan is
what% of the export of Rice to Srilanka
from India? [ ]

BP0 MODS DS egeS dewd, ook
VDS BLE™D BV Deudes® Jod F80?

1)  75% (2) 60%
3) 45% 4 50%

(v)  What is the average export of cotton from
all the countries together? [ ]
®) QAT NN DS P8 Jo°d8
DD DOEH?

(1) 100T (2 125T
3) 150T (4 160T

(b) Study the following Pie chart carefully.
1508 - e BNT @E50Hd0 WOLOE.
Pie chart shows the number of players = 3000
2 T Doy 2058y Sogy = 3000

Indoor Games

Gymnastics
(Z5228)) (R0&°6 eseen)
Hockey
(8)
Tennis
(BYyw)
Cricket
(183¢5)
oNnON ) IMR_R4171
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. (1)

(iii)

(iv)

How much number of players in
cricket?

8365 e300 H50)5 Do ? [ ]
1) 600 2) 930
3) 660 ) 600

How much number of Gymnastics
players?

86533;5“) 360 e3Goa°8 Hogg JoB?

| [ ]
(1) 450 (2) 500
3) 400 4) 600

What is the difference between the

number of players indoor games and
tennis? [ ]

Q0G0 Aoy esear68 3980520 &533015
e3Gsa°08 E\)(;S?S(‘{e) éé@”g{)o DO ?

(1) 120 (2) 150
(3) 240 (4) 500

How much number of players, who are

plgying Tennis, Gymnastics and
Cricket together? [ ]

DY, BITREy oBokw  (E35 BB
H03)5 JNBO JoB?

(1) 2000 (2) 2400
(3) 1800 (4) 2100

4 [CB-B417]
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&Déo Nlel1 Y,
(1) 1200 (2)
(3) 1650 (4)
Answer ALL the questiohs.
(a) ABC:DEF:: GHI :?
(i) AFC (i) JKL
(i) IJK (iv) FIG
(b) ONM :JIH :: TSR :? |
() ONM (i) LMN
(iii)y VWX (iv) XYZ
©) 121, 114, 105, 94, 81,66?
i) 49 i) 47
(iii) 52 (iv) 53
d) 17, 22, 32, 47, 67, 92?
G 112 (i) 132
(i) 114 G(v) 122
5

(v)  How much number of players, who are
playing indoor games and hockey

together?

[ ]

0&°8 Aoy SoBakn 38 esd o8 SE

1500
1920

(10 x 1= 10)
[ ]
[ ]
[ ]
[ ]
[CB-B417]
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(e)

®

(g)

(h)

(1)

23, 33, 46, 62, 81, 1037

1) 126 (1) 130
(1) 133 Gv) 128
Fan : wings : : wheel : ?

(1) Tyre (11) Balls
(1) Spokes (iv) Gare
Find the Odd Man

House, Palace, School, Hut

(1) House (i1) Palace

(111) School (iv) Hut
Find the Odd Man out

[ ]

Geometry, Trigonometry, Mathematics, Algebra

(1) Geometry

(i1) Trigonometry
(111) Mathematics
(iv) Algebra

Find the odd man out.
81, 144, 169, 225, 361

(i) 81 i) 144
(i) 169 (iv) 361
6
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Find the Odd Man out
751, 734, 981, 853, 532

. (1) 751 (1) 981

(iii) 734 (iv) 532

Answer ALL the questions.

(a)

(b)

(c)

(d)

3x4+18+6-10="7

i) 4 Gi) 5
(iii) 6 Gv) 7
468 +4 x5-285=7

i 200 () 300
(iii) 400 (iv) 450
0.8x0.8+0.8+8=7

G 0.74 (i) 1.44
(iii) 0.65 (iv) 0.62

(10 x 1=10)
[ ]
| ]
[ ]

Two numbers are in the ratio 2:5, their
LCM is 40. Find the smallest number? .

[ ]

B0¢ Sogige DS 2 : 5, T3 E.0.5. 40 @000

DY) éoa)éﬁ) E0RTH06.

G 10 i) 20
(i) 8 (iv) 4
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) LCM and HCF of two numbers are
" fcépectivoly 210 and 7. If one of the numberg

is 35. find the other number. [ |
B0ty VoYY ¥ 3o, 150, DOBOSD K.Ar.g7.00 DB

910 2o8akn 7. ©0tS” 28 [oxy 35 0wd

BOLED éoaJ?S Nel2 ¥,

1) 35 1) 30
(iii) 42 Gv) 49

® Find the angle between two hands of a clock
at 4:357? [ ]
1: 35 5200 3¢ Botk HkHe Wiy a0 JoB?
(1) 72.5° (1) 65°
(111) 60° (v) 36°

(g) In how many times two hands of a clock will
coincide in a day? [ ]
KEASTE0S” Botk D QY 28 &S’
D82ID0DR0?
H 24 (i) 23
(i) 22 (v) 44

(h)  How many odd days for 224 days? | ]
224 8'2r 0% AR B25%aren &otron?
W 0 (i) 1
(i) 2 (v) 3
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(1)

0)

If today is Wednesday, after 81 days which
day will come? [ ]

Se 5% 200 900d 81 Sareny BEOTH 9

&' WY ?
(1) Monday (11) Sunday
RE0IE0 es8dar8o

(111) Wednesday (iv) Saturday

ASIaTY lefe) BOI°E0,
Pointing to a photograph, a man tell his
friend “She is the daughter of the only son of

my father’s wife”. How is the girl in the
photograph related to the man? [ ]

2.5 PSP eac;s%’a;; 28 HEOE B DR
“e&53), Jo° Bo|GB B, grdy By &8 ok
S5 @Boo¥), SrBu” PSS @) ards, e

DHBIDE D0HKR?

(1) Daughter (1)  Sister
K80 D9/ ¥);

(iii) Sister inlaw (iv) Wife
odE e ARy
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Answer ALL the questions. (10 x 1 =10)

@) The present ages of A and B are in the Ratig
a 0.3 after 6 years their ratio will become

3. 4. What is the present age of A ?] ]
A $8a Be P8 Hobdne dpd 2:3, 6
JoNEyore BOSD T8 HAA)® dPd 3 1 4
< o858, 00D A BUE); (DB AR ~oB?

(1) 18 years - (i) 12 years

18 Sonew 12 donen
(111) 16 years (iv) 10 years
16 donew 10 donen

(b) The present ages of A and B are in the ratio
4 : 5, the product of their ages i1s 500 years,
find the present age of B? [ ]

A %80 Bo (S sabape dm8 4:5,
208050 78 HAHANY ©0 500 Solle. e900® B
S8, (538 SaHiyy JoB?

() 20 years (i1) 10 years

20 Sonew 10 Sonev

(i) 12 years (1v) 25 years
12 Sonen 25 donew

2
020 10 [(CB-B417]
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(¢c) The present ages of A, B and C are in the
ratio 2:3:5. The sum of their ages after
5 years will be 85 years. Find the age of C
8 years ago? | ]

A, B 08w C o @8 d0Dhdnye d3d
2:3:5, 5 0H)ore BoRH T8 HoHRye
oo 85 Jolew, eowd C @wE), DAy

8 Jolle 8%B0o JoH?

(1) 27 years (11)) 25 years
27 Jonen 25 dolew
(iii)' 35 years (iv) 30 years
35 Sonew 30 Holen

(d) The average of 10 observations was 30. If
two observations 45 and 55 are removed.
What is the average of remaining

observations? [ ]

10 $830mrossne B 30, ©0S” Bot
488090y 45 S08050 55 oo SoRodaddd.

RS S8BT HeR JoB?
@ 30 Gi) 20
Gii) 25 (v) 24
[CB-B417]
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(¢) The average of 5 consecutive even number is

28. Find the greatest number? [ ]
5 HER BBI0PgR BHew 28 eand 90306° Ble
ROy 0B ?

() 32 i) 30

(i) 34 (iv) 36

(f) A Batsman makes a score of 40 runs in his
10th innings and thus his average was
increased by 3 runs. Find his average after

10th Innings?
28 wyplyS B @y, 105 aoRHs
40 SoKen Ao DD B SR 3 DB

BRI, @ond 10 H aR)ohy BTGB 3K J0B7?

(1) 10 runs (i) 12runs | ]
10 J800e0 - 12 8000
- (1) 13 runs (1v) 15 runs
13 S&oHen 15 J800en

(g) 3600 Rs. was divided among A, B and C are
in the ratio 2:3:5, the find B’s share?

[ ]
3600 &ruon A, B 50850 C o 2:3:5
DHBS® 2¢BodT® B Bov), Toer dos?

(1) 720 Rs. (11) 1080 Rs.
720 &~ 1080 &o~n
(1) 1440 Rs. (iv) 1800 Rs.
1440 8o~ 1800 &~
2020 12 [CB-B41 71
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(1)

0)

2non

A B C
If =—= then find A+B+C
3 4 5 B = ?
A B C A+B+C | ]
+ B+
3 = 1 = 5 008 D) JOBH?

1 3 (i) 4
(n) 5 (iv) 6
A 132 metres long train crosses a signal pole
in 6 sec. Find the speed of train? | ]

132 Q0 D85 EYD 2.8 v 6 DES® a8 NS

Qoapﬁa)& &30, 0008 & 3o ABws), K0 JoB?

1) 22kmph (i) 30 kmph
(111) 45 kmph (iv) 79.2 kmph

A student walks from his house to school at
8 kmph he was late by 10 mins. Next day he
walks at 10 kmph then he was 5 mins early.
Find the distance between his house to

school? [ ]
2.8 3)53‘39 o.¥ S% B9 083 Dok BT

8 kmph DK08° A3 10 DA SO/
38%>. H6° &% 10 kmph 3K08" Basredyy
5 20dpen SPoBEme WOR. oD B B,
5063 3008 JeBTK Doy BIrdo 0H?

(1) 8 kms (i) 10 kms
8 &.50.e0 10 8.20.e0
(111) 20 kms (iv) 40 kms
20 8.50.e0 40 8.D0.e0
12 [CB-B417]
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5.  Answer ALL the questions. (10 x 1 =10)

(a) Mahesh started a business with a capital of
25,000 Rs after 3 months Rajesh joined him
with 30,000 Rs. at the end of the year they
got a profit of 9500 Rs. Find the share of
Mahesh? [ ]

oA e TErow) 25,000 o8&’
00D, 3 oo BTGB eﬁla"é@vdoéﬂ 30,000
Srie8 ool BB, ¥ Soddo HAw
D00AE 88 9,500 Sten €0 DW)AD.

Doara BoE), T JoH?.

(1) 4000 Rs. (i1) 4500 Rs.
4000 &5~ 4500 &oei

(111) 5000 Rs. (1v) 6000 Rs.
5000 o Sull! 6000 &o°n

(b) The investments ratio of A and B is 3 : 4, and
the ratio of Time periods is 5:6, Find the
ratio of their profits? [ ]

A 08aiv B o be%geoﬁéw DPB 3 : 4 bl 57
2820800 DJA 5 : 6 oD ergre DS DoB?
(1 10:7 (1)) 5:8
(1) 8:5 av) 2:5
2020 14 [CB-B4171
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©) A man spends 40% of his income on Food
20% on house rent, 10% on childreﬁ
education and 8% on entertainment. Finally
he saves 1,100 Rs. What is his income?

[ ]
a8 8 B By eprabos® 40%, esssso

§°85 20%, =083 3%  10%, fage) D
830 8% Jerdo 8K VBRI, 95865
OB 8.1,100 1EPH JD B0 BwE,

e3T3°0300 JOH?

(i) 5000 Rs (ii) 6000 Rs
5000 &5~ 6000 &o~u

(1i1)) 6500 Rs (iv) 5500 Rs
6500 &oeil 5500 &o~i

(d) If two numbers are respectively 20% and
50% more than the third number. How much
percentage of the first number of the second

number? | ]
3ot Hoge HEIM™ 3D oy ¥o& 20%

$58a50 50% JEHT aRD. ond ose
Hog)g N6 Do J0g)S° JoB FHO?
i) 60% (1) 75%
(i) 80% (iv) 90%
2020 15 [CB-B417]
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(¢) In how many years the sum of money will
becomes thrice itself at 20% p.a. at simple
Interest? [

[ —

IR 50:){9“)0'"0656 e,réoéé [DS°80 eden 3 Bew
20% 5@ Bew (H5°80 eKR0?

(1) 10 years (11) 12 years
10 Sonew 12 Sonev
(111) 15 years (1v) 20 years

15 Qonen 20 Rdonen

) A sum of 400 Rs. amounts to Rs. 480 in
4 years at Simple Interest. If the Rate of
interest increased by 2% then what is the
total amount? [ ]

T DG H5°80 400 Srnen 4 HodEyTes®
480 Srnore S°858. H& Beod 2% oD 59

Ztooé_fgo :bv:éooé DO ?
@) 500 Rs. (i) 600 Rs.
- 500 & 600 &~
(111) 612 Rs. (iv) 512 Rs.
612 &~ 512 &~
2020 16 [CB-B417]
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(@)

(h)

2020

what is the difference between, the
Interest and Compound Interest On a S:Jmple
10,000 Rs. at 10% p.a. for two yearg ig? m of

[ 1
2 %o1ee® 10,000 8o eden 3
o P 10% 5 Beovr

g80 éé» WS 35§0 G 5TI0 Jo%?

1) 200 Rs. (1) 300 Rs.
200 &orii 300 &
(i11) 500 Rs. (iv) 100 Rs.

500 &~ 100 &ou

A sum of money will becomes 2 times itself
in 5 years at compound interest. In how
many years it will becomes 16 times itself?

| ]
BE DG (HS°¥0 den Iy 5 S50110E° BO Bew

eond 16 Bl SRS 05 ¥500%00

DEIH0B?
i) 15 years (ii) 20 years
15 Qonew 20 Honew -

(ii1) 25 years (iv) 10 years
25 dolen 10 donen

17 [CB-B417]
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(1)

' article 6000 Rs, and it
ani bought an article for | .
a?:;;ld athO% loss. Find her selling price?

[ 1
5500 2% Hdoy 6000 So10%) 5T, 90008

es ) 20% é%’f\’)g SHVIN @m&ff) DO HOH?

(1) 4800 Rs. i) 5000 Rs.
4800 &I 5000 &

(ii1) 7200 Rs. (iv) 4000 Rs.
7200 8o°n 4000 &o~i

Find the single discount equivalent to two
successive discounts of 20% and 10%.

[ ]
B0ty JBJ GAT0e5en 20% 08k 10% ©%

SIS DY BamY,065 D JoB?

i) 18% i) 28%
(111) 30% (IV) 259%

18 [CB-B417]
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FOR B.A., B.COM.,, B.C.A. AND B.B.A. COURSES ONLY

[CB-B417]

AT THE END OF FOURTH SEMESTER
(CBCS PATTERN)

FOUNDATION COURSES — ANALYTICAL SKILLS
(From The Admitted Batch of 2015-16)
Time : 2 Hours =~ Maximum : 50 marks
I.  Answer ALL the questions. . (10x1=10)

(a) Study the bar graph given below and answer the
questions from 1 to 5. Data on sales of cellular
phones during 2016-2020. : '

8505 dAHED 2rd DEIDVR eIGFASEI0 P 1 250D
5 (%05 BRI EERHR0) [°05006. |

2016-2020 S0HBHTOK R0 Dewged @650 ®IyS°e
DHT°LV ’aéogeo&;éa

w
[+}]
5
> S
A S ,
g ur? 60,0001 o o ‘ o
= 50,000 T - S g S
g '8 g 3 8 S
— ¥%a.40,00071 s S
& ¢ 30,0001 | S
c ) «
v 20,000 1
10,000 ¢+
L L4 1
0 9016 2017 2018 2019 2020 2021 2022
Years (K’Oééﬁ)ﬁm))
2020
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1. The difference in the sales of cellular phones for

the years 2016 and 2018 1s [ ]
2016 208050 2018 J0IBYor K R0 foenée)B N
eH5OS " 500 |
(a) 500 units (b) 1,000 units

500 c305°den 1,000 o:im:)wg
(¢) 5,000 units (d) 18,000 units

5,000 aSao~de) 18,000 o30°0en

- 2. The two years between which the rate of change of

cellular phone is minimum are [ ]
D Botd PodETe ::na55 Degob HS” Dty Bew
5«‘{)&&»

(a) 2016 - 2017
(b) 2018 -2019 |
(c) Both option (a) and (b)

() 208050 (b) Bor
- (d) 2020-2021
3. The sum of sales of cellular phones in the years
2018 and 2020 equal to that in [ ]

2018 58a%n 2020 SodByore foenéeﬁ @GSQ SRV
0080 D Nlehlijlel) eﬂéo&s“eﬁ) PadTCRR?

(a) 2016 - () 2017

(¢c) 2019 | ~d) 2021
4. The percentage increase in sales from 2020 and
2021 was ’ [ ]
+ 2020 08010 2021 7763 sPe06* NS LD FHO

(a) 115% (b) 128%

() 122% | d 118%

2020 ) reo DA171
Scanned with CamScanner



5. What is the average sales figure of all the years?

[ ]
Tbooé_go Q) V0NBYT°® cBoogb @:1)&5"0 ) o7

(a) 32,000 units - (b) 33,500 units
32,000 G006 33,500 50706

(c) 34,500 units (d) 35,000 units
34,500 G506 35,000 G50°De

(b) Study the following Pie chart cafefu‘lly and answer
questions 6 to 10. It -consists of data on tourist
arrival from different countries.

8109 ﬁ)otba)&é 2 (Pie) =80 Hregore @Cﬁéoﬁoéo 3:0
6 oo 10 Lo)éoleﬁ) PRIV [Po00G. DAE
B55000 5000 HOYD (HATBDE 5T RIEWIE.
Total tourist traffic = 20 Lakhs

080 (SALre%Ho 88 = 20 oo

| (c503.) B

(0520.000.2.)

Others
(atoen) 20%

(ws)
2020 3 [CB-B417]
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6. The difference between tourist members from

USA and Japan is | : [ 1
USA %0805 Japan © S8 (S05°e35)0 867
(a) 2 Lakhs . (b) 3Lakhs
2 o - 3 ofe
(¢) 4 Lakhs ) 5 Lakhs
4080 | 5 @5@

/. The angle extended at the centre by sector of

tourists from USA is [ ]
USA %009 (Soiredo ::)g?oo:ao §%m0 (gﬁef_a BB)
D07 | - |
() 108° T ) 118°
© 144° @ 165°

8. If the number of tourists from UK doubles up
while the total remains the same, then the new
angle extended by - tourists from UK will be

| | [ I
UK %009 (Saireithe Soggn 3edo Sam (3o

BairsBes® 56y 8%ow), UK 000 [Sasredhe
QBo0E); B DBHAD S0 dos?
(@) 60° | (b) 720
() 90° (d) 120° .
2020 - 4 [CB-B417]
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9.

10.

II.

11.

2020

If the total number of tourists doubles up while
the absolute number of tourists from ‘others’
remain the same, then the new angle extended by

“‘others’ at the centre will be ' [ ]

AnBo (FATBDOR BPoH VD (ABO 20D

DO KHens®  Brdy)  BPowe) BodHsw  Hod

QBHO’ DB SrBTAD DGy §es0 J0B?
@ 36° ® 72°

(@ 108° (@ None(d83)

If the tourist traffic from. USA shows a growth of
50% while the total number of -tourists remains
the same, then the new percentage from USA is

s - ]
USA %009 [Soirefe Joggs w&iHde 50%

0000 (D0BO (HALPEBKO HogS® sy BBe)

USA %009 [SalrsdHe Bwg), 0eed (§°8) 3o

QOH?

@) 40% B 4% .

¢ 50% o (d) None (8 5°&0)
Answer ALL qﬁestions. R - - (10x1= 10)‘
2,9, 28, 65, 126, 217, 344, _? | [ ]
(a) 513 b) 362 |
) 369 @ 36l

5 [CB-B417]

Scanned with CamScanner



12. AB,DE, GH, _?__, MN. [ |

(a) HI (b) JK
(c) KL | (d) None (28 5°¢0)

13. If ‘SELDOM’ is coded as ‘124365’. How will you

code ‘MODE"? - [ ]
“SELDOM’ %o ‘124365' e §°6& D%, MODE’ &
Do §°& DoSnEE?
(@) 3621 ) 6231
(c) 5632 d) 6213

14. Choose the number pail; that is different from
others? = o | ]
2B Yo 0 PYpdendod  [Jog
D30TALeR) HBovod.
@ 15:46  (b) 12:37
) 9:28 d) 8:33

15. ABCD;LNPR::FGHI:? [ ]
(@) QSUW (b) QSWU
) SQUW . (d) SQWU

16. 42:56::72:? [ I
(a) 81 ®) 90
(c) 96 | (d) 100

2020 6 [CB-B417]
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18.

19.

If ‘CERTAIN’ is coded as ‘XVIGZRM’, then how
‘MUNDANE’ be coded [ ]

‘CERTAIN’ % ‘XVIGZRM' m™ S§°%& 3%,

MUNDANE' 55 Y980 §°6 30505087

(a) NFMWZMX b) VMZWMFN
) NFMWZMV - d) MIMXZMV

JAK, KBL,LCM,MDN, _? _ [ I
@) OEP () NEO
0 MEN (@ PFQ

Fill in the missing number in the following 3
B85 D5ED TRS® BB VoG FBoBod.

[ ]

14 | 16 | 18

(a) 4 b) b
© 6 | d) 8

anon 7 ICB-B4171
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20.

I11.

22,

In a certain code, ‘15789 is written as XTZAL

and ‘2346 18 written as NPSU. How is 23549

written in that code? | [ ]
Lk 3Beras® 15789 %0 XTZAL ™ @abedysg,

Bay ‘23463 NPSUM™ @08, eStersst

23549 > Do FAETO?
(@) NPTSL - () NPTUL
() NBTSL (d) PNTSL
Answer ALL questions. - (10 x 1= 10)
Simplify (‘(D‘“é&gaéiﬁo&.):
.
4- 1 [ ]
1+
1
3+ 1
2+—
4
31 . 1
T ® 3
4
© = H 12
) @13
Find the L.C.M. of 27, 63 and 72 is [ ]

27, 63 2085 72 © Gt K310, 3208,
(8) 1512

(b) 1522
(c) 1532

(d) . 1542

2020

8 | [CB-B417]
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93, The H.C.F. of two numbers is 11 and their L.C.M.
is 7700. If one of the numbers is 275, - then the
other i8 [ - ]
Both Bopg K.Amgr. 11 508050 6 E.R0.10.7700.
0LS® Dooised oy 275 0N otk Sogy JoB?
(a) 279 (b) 283
(© 308 - (@ 318
24. If the fourth Saturday of a month is the 227 day,
what day is the ]3th day of the month. [ o ]
2.& oS 229 5533' TPOOND %9780 @O &8 JoS®
13 5 8% @ TES0?
(a) Tuesday | (b) Wednesday
450KSTE0 L angaso
(¢) Thursday (d) Friday
0§80 BoETE0
2020 . 9 - [CB-B417]
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|
] |

26.

217.

2020

“Your mother is the daughte,

Ravi said to Seeta. .
How are Ravi and Seety

of my grandmother |

related? ‘ [ |

59, 268 e PO dgPPTE. “D BTG

Doy By, K0, 00D 8D H0BALH e

ABo0E); $502I0LH0 A7

(a) Uncle-Niece (b) Father-Daughter
w:)odbé-fnbgsdiw BH0|G - K08

() Cousin (d) None
580 - B

How many times do the hénds of a clock coincide
in a day? [ ]

2.& St Kc?ooiﬁdoeS“sX) Bocy Doy IQYD a8
o8& 2,463 S’encooéaowo)a?

(@) 20° () 21
© 22 d) 24

The calendar for the yeaf 2007 will be the same
for the year - [ ]

SUROLEISR 2007:,5 n)oééfg\)doés SSTeHome o
.oo:)éodo J&? |

© 2017 d) 2018

10 [CB-B417]
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@ =
1 —
- b) 1
1 77
) 4 d 1—
2 (@) 288
29. Which of the following sets of numbers is in
descending order? | [ ]
859, DADVED S0g)50 Lrimg) ©38%res ErHoes
é?ﬁ&&’)" | |
4321 413 2
(a) g: g’-gig (b) 57 2 8; 3
2 4 3 1° | 4 21 3
222 - H = 2 -2
© 3353832 @ 53238

30. A bell rings every 5 minutes. A second bell rings
every 6 minutes and if the two bells ring at the
same time in the morning, then the next time

~ they will ring together at [ ]
28 Koey [_oJQ? AR ARORY ?%gaoc‘ioéfwoa B0 Hoe

K 6 DAIHWOK @J“?ﬂoéa}doéooa. &3 3o Koeoen
&EasTRy a8 0 RrRodadd & Bow ot
5 550057008 2E0 PrrRobaEsron?

(a) 8.30 O'clock (b) 9 O'clock
(c) 10 O'clock (d) 12 O'clock
h 20920 11 [CB-B417]
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31.

32.

Answer ALL the questions. (10 x 1 = 10)

Three vears ago the average age of A and B was
18 vears. With C joining them now, the average

becomes 22 years. How old is He/She now?

L
S0P DOVBYT°O 18%o A 208050 B © DK A
18 B0SBIBH0LD. BPE T86° C D65 878 =8
SKe HODRY) 22 DODIEYBR00. wond C ((3ud
505012y D082
(a) 24 y’eafs | (b) 27 years
24 %oe0 . 27 Soten
(c) 28years | | (@) 30 years
28 ‘ébue’n T 30 douew
1 11 |
If —:=:==2:3:5,then x:y:2= [ ]
x Yz |

l'—1‘1235 ;6 9
x'yz_' WOV X:Yy:12=

@ 2:3:5 ®) 15:10:6

12
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33. Harish is 40 years old and Suresh is 60 years old.
How many years ago was the ratio of their ages

3:57 [ ]
B (908 900y 40 HodTYSer S8k BB
SB DALY 60 JodByBhwey GOV I

1
DoSBYSI0e (8o 8 A8 Jobdpew 3:5
DYPSS® dyon?
(a) byears ~ (b) 10years

5 dolen : 10 Sonew
(c) 20 years " (d) 37years

20 doneny 37 Jonew

34. Swetha Jogs 9 km at a speed of 6 km/hr. At What
speed would she need to travel during the next
1.5 hours to have an average speed of 9 km/hr for

the entire Jogging session? | [ ]
S5 Aot 6 8.8, DKo8" 9 8.2v. ooﬁﬂ@oa BES8

dodo IKHOX 1.5 rfoeoes‘”’ SKen Do Kot
9 &.8). &° 55/ aagwsﬁ e o)oéé Do BHJEI0?

(@) 9km/hr () 10 km/hr
9 &.%./Ko. 10 8.%0./Ko.
(c) 12 km/hr | (d) 14 km/hr
| 12 8.5./Ko. 14 &.%./Ko.
2020 | 13 [CB-B417]
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30,

36.

2020

Two trains are running at 40 km/hr and 20 km/hy
respectively 1n the same direction. Fast traip
Ompldglv passes a man sitting in the slower

train in b seconds. What is the length of the faster
[ 1

tram

Boky Bey &8 B%eS® 40 km/hr 08050 20 km/hr
BOSrESoRoBR)D. IIRBT degdoR 9 Benss® E1 800
&Ry 3580 drore Tbe)o;ﬁoé& Ben b WES® e,

KXo Be)o:)o;é& 'Gen cfméb D) V0B?
. 2
(a) 23m ) 2Bom

© 27m - (@ 27%m

The average of marks: of 28 students in
Mathematics was 50; 8 students left the school
and then the average increased by 5. What is the
average of marks obtained by the students who

left the school? . . | l )

28 dorghen Ke3BOS™D G0k Hiew e 50.
®0&S° 8 ‘;330_63 &’)m?sdé)en SMUEOVINALY Dosore WA
T0 G300K); Bied 80,00 5 DS B0NH ST
ST demgtire Bk SKen St),en J08?

@) 375 b) 42.5

© 4 @ 505 ‘
14 (R-B417
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37. The salary of A, B and C together amounts to
T 333. If they spend 80%, 85% and 75% of their
respective incomes, their savings are as 7: 6: 9
The salary of ‘B’ is : [ ]

A, B 208a50 € ev dodo 880 857333 3080 5805
T8 eTaoS” 80%, 85% KB T5% PKY DD
BT T8 BE); e OB 7:6:9 eocmb ‘B’
G30E); B0 o ? | |
@ T105 () 108
© T115 d) =120

38. If30% of A =0.25 of B:% of C, then A:B:C :

o . | [ 1

30% A4 =0.25 B=— ©and A:B:Co58
(a) 10:12:15 ~ (b) 10:15:12
) 12:15: 10 (@ 15:12:10

-39, A Batéman makes a score of 98 runs in the 19th

inning and thus increases his average by 4. What
1s his average after 19th innings? N

28 oo B3 199 afpfHst 98 Hbibe
APP00e) HOD 9B D 4 DEOKLEDDE. ©oVD-19 D
'Q:‘O&Oﬁn) HEOICH 9B e DO ?

(a) 22 (b) 24
() 26 (d) 28

(9 ~ 1
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in the form of one-rupece,

. vuns T 216 .
A bag cont? n the ratioof 2: 3 - 4,

5() paise and 25 paise comsan :
The number of 50 paise coins 18 |

5S¢ &om.216e0 1 B0 FEsR0, 50 Ple
ALY FPRDVON 2 1 3 1 4

S14

oxpds” EOR DRYD. o 50 PR TS

&3 909S® GRYD AY? .

.. : 114 .
a) 96 (b) 1

éc) 141 @ 144

V. Answer ALL 1:,he questions. (10%x 1= 10)

A number éxceeds-leO%- of itself by 40. The number
is

2.8 J0g)g m”x)g 20% K)oa)?séb 40 KD &B: wond

41.

BKJO&JZSo)Oé?_" o o
@ 5 . (b)) 60
c 80 . () - 320

42. By selling a table Afo’r T 350 instead of T 400, loss
percent increases by 5%. The cost price of the table

1S | L ]
28 8o 81.350 0% e 8r.400 O™
TP VRO 5% DBRVA. 9020 & S BooY) S

P8 do%? |
(a) 435 (b) ¥ 417.50
) = 1,000 d) 1,050
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. A B C subscribe T 50 000 for a
A subscribes 4,000 more than B 4 )
more than C. Out of a tot

Slneyy.
nd B ¢ 5,000
al profit of ¢ 35,000, A

| L)
A, B 20850 C ev o¥ TFTEOS® 85,50 000

receives

v OV
Deged ‘:)Qméo. A 1)&823& B %08 &r.4.000

DE), T 55030115 B 3)&8‘23& C §o€3 83°.5,000 L)1

DPIT’, JoBo ereso 85°.35,000 05" A Boog); Toer

Q0B ?
(@ ¥8400 () 11,900
() ¥T13600° (@) 14,700
44. At what rate of éimprle' infer:est, d certain sum will

be doubled in 15 years. | o e ]
s dwdo dods Bew  |[F5°80 et ;S§§ >0
15 S058)0°05° 3o egtood?
(a) 5%0/013_& . (.b)‘- 6% p.a.
(©) 6—§- % p.a. (d) 7‘;‘% p-a.

| 202 o [CB-B417]
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[ Y

195.

46.

12020

The difference between compound interest and

sum for 2 years at 8% p.a. 18

a ]
8% WPV

simple interest on a
£ 768. The sum 18

2.8 08O D 2 :60:3%0‘053 k0 Arensd

qm& 208050 28 ;s&e) 2085 B 87°.768 9000

20080 DOH?
(@) ¥1,00,000 () 110,000
(¢) % 1,20,000 @ ¥ 1,70,000

In an examination it is required to .get 36% of

marks to.pass. A student got 113 marks and was

declared failed by 85 marks. The maximum
marks are L - [ ]
& SBES® S5DYBIR) WA TR0 36% AT
2§00, o8 T 113, Brtioye0 JorBoDDSE
eﬂ:m&aogmo 85 H80 BES® Y BYIERT™
3 5 4

e éﬁ- @000 & BB KB 060,00 Y2

@) 500 ‘ (b) 550

© 60 d) 1008

1R (CR.R417]
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What price 'Sh0u]d a sho
articles costing him z 15
allowing a discount of 15%?

a8 (0570 QZITD) 9% D00 B, ®[153 ]
+193 eurp

é}()&&)‘es 2 20%ergiory (m"f{)?g 15% &%06 BOAA
SHT) SOFBOINLO M & iy )

Pl

Pkeeper mark o

v 05 DO [alel
| g)go»oa"@?
(@) ¥162 (b)) =184
(9 %216 (@) T2z

48. A, B; C enter into partnership. A initially invest
¥ 25 lakhs and adds another % 10 lakhs after one
year. B initially invest % 35 lakhs and withdraws
% 10 lakhs after 2 years and C invest ¥ 30 lakhs.
In what ratio should the profits be divided at the
end of 3 years? _. | | ]

A, B, Cen grifargiog a5r808" grifigeon (5230300,
A rSog Vel 8025 0FR0 208050 28
SodBy0 BT esSom &r.10 o DeyusrT
Ve, B @r8oesos” 8.5 0foo DETE meﬁ:
2 Bodgnsswe sod &r.10 ‘oo AEOW @@
. B - 2 °
KT, C 830 OFOD ae\gw&n"b ;§ .
00 3 Sostome edoBEo T TR S B3
V0305065772 |

@ 10:10:9 (b)
19:19:18

© 20:20:19 (d)
ViU _B417]
2020 ' 10 [CB
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49. A farmer borrowed % 3,600 at 15% p.a. At the end
of 4 years he cleared his amount by paying ¥ 4,000
and a goat. The cost of the goat is [ ]

2X B8O DoSBYE 16% H& TP 63,3600 0
sgpm BoWEn. 4 Do) HETH 0B
© oo &r4,000 26w ef AP ad)
DYoBEAVG. wowd. @ KD B0y, dewd (PB)

QOBH? |
@ T1000 . () 1,200

¢ T1,550 () ¥1,760

50. A sum amounts to ¥ 2916 in 2 years and I 3149.28
in 3 years at compound . interest. The sum is

| ! ]
S0% JBo B DEE R Vot HoNBIHNEK
- 87,2916 R0 B0 3 BodEysane 83°.3149.28e

PR 00N AVBo JoB?
(@) T1,500 (b) 2000
()  T2,500 d) %3,000
2020 | j
20 [CB-R417
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[CB-B 417]

AT THE END OF FOURTH SEMESTER -
- (CBCS PATTERN)

FOUNDATION COURSES ~ANALYTICAL SKILLS

- (Common for B.A., B.A.(PHIL), B.Sc., B.Com. (G),
B.Com (V), B.B.A, B.CAA,, B.Sc(FT).,B.Sc.( Animation))

(From the Admitted batch of 2015-16)

Time: 2 Hours | - - Maximum Marks: 50
I. Answer ALL questlons S (10 x 1 =10)

(A) Study the following graph carefully and
answer the question 1 to 5 given below:

1400 T

1200 T

1000t

800 +

Sales (in lakhs)

600 +

400 T

2001

‘ Apr' May June July Aug J
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1.

2020

In which of the following duration, there is steady
increase in sales.

(a) May to July (b) May‘to August
(¢) June to August (d) None

During which of the following months, the

proportion of the sales to that of the prevmus
month is the largest

(a) Apnl | “(b) May
(¢) Jdune . - (d) Jduly
The sale in August is — _ times the
sales in May o
@ 25 C® 360
RO T | (d) None |

How much did the total sales (1n lakhs or rupees)
increase from April to August?

(a) 800 (b) 700
© 1200 @) 400

Average monthly sales is (in lakhs or rupees)
(@ 600 b) 650
(c) 1780 d) 620
2 [CB-B 417]

3
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(B) Study the graph and answer the questions
6 to 10 given below. In the following pie
graph is marks obtained by a candidate in
five subjects — Maths, English, Hindi,
Science and Social Science are given. Full
marks of the examination is 540

. Hindi
70°

6. What is the percentage marks in maths of the full B

marks? | 4
(a) 20% () 30%
) 35% d) 25%

7.  What is percentage marks of the total marks in
English, Science and Social Sc1ence of the full

marks? | |
(a) 45% . (b) 44 2%
¢ 55% d) 552%
8. In which subject student get 22.2% marks?
(@) Hindi (b) _Science

(¢) Social Science (d) English

2020 3 [CB - B 417]
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10.

II.

11.

12.

13.

2020

In which subject student got 105 marks?

(a) Maths (b) Science

(c) Hindi (d) English

What percentage mark is more than the marks

obtain in three subjects — English, Science and
Social Science from the marks obtained in- Hindi

and Maths?

1

(@) 10% ) ®) 11%

© 111% @ 10§%

Answer ALL qu‘estioh. ‘- | (10x 1=10)
2,7, 17, 32,52, 77, ,

@ 107 () 91 ;

(¢ 101 ) 92

Identify wrong number in the series.

5, 8, 20, 42, 124, 246, 736

' (a). 8 . (b). 20

© 42 @ 124

AND, COF, FPI, JQM,
(a) ORS () ORR
) QRS (d) PRT

4 ~ [CB-B417]
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14. Which is the 8th letter to the right of 15t letter
from your left in the English alphabet?

(a) W b) H
(c) .V d G
15. Clock : Time :: La.mp :? |
(a) Light (b) Room
) Glow - (d) Bulb
16. Identify the odd one out |
(a) Printer "(b) Correspondent
(©) Publisher _ (d) Rea-d_er |
17. If CARPET is coded as TCEAPR, then the code for
NATIONAL would be Q |
() NLATNOLI () LANOITAN
(0 LNAANTOI @~ = (d) LNOINTAA

18, 1Y Yo B |
@ Y (b).%-
© Y @ %

19. aa-aabb-b-aa—aabb-bb

(@) bbbaa | (b) bbbba

(c) abbab (d) babba
2020 5 ~ [CB-B417]
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20. Identify the wrong number
3518 72312 16560 9972
(a) 3 (b) 18
(c) 72 d) 312
III. Answer ALL questions. (10 x 1 =10)
21. 0.01x0.1-0.001+10+0.01=?
(@ 001009 (b 00101
(¢) 0.109 | d) 0.0109
22, |144) + 48 x?|+22=216
(a) 23 . () 11
() 16 S d) 32
23. The product of two numbers is 1600 and -their
H.C.F.is 5. The L.C.M. of the numbers is
@ 8000 . () 1600
(c) 320 d) 1605
24. A is B’ s sister. C is B’s mother. D is C’s father.
E is D’s mother. Then how is A related to D?
(8) Grand mother  (b) Grand father
(c) Daughter (d) Grand daughter
2020 6 [CB - B 417]
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25.

26.

27.

28.

29.

A is taller than B and C is taller than D.If D i
taller than B, who is the tallest? r 4 D in

@ B
® C
c) A

(d) Cannot be determined

If 3rd of the month is FRIDAY, what day will be on
the 4th day after the 21 of the month?

(a) MONDAY-. (b) SUNDAY
(0 SATURDAY (d) TUESDAY .

What angle will the two hands of a clock make at
6.20 A.M? - |

@ 75 i b) 70°
© 60° @ 45

If A stands for +, B stands- for x, C stands for +

‘and D stands for —, then 15A3C9B3D5=?

@ 25 () 22
(c) 27. | i '(d) None of these

Which part contains the fractions in ascendmg
order? -

11 16 16, 16 11 16
® 1w ® T9°12' 21
| 16 16 11
© 1611 16 @

21’147 19 19’ 21’ 14
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30.

IV.

31.

32.

33.

34.

2020

V1331 =7

(a) 11 (b) 27
(¢ 21 d) 17 |
Answer ALL questions. (10 x 1 =10)

A cricketer has a mean score of 60.runs in 10

innings. Find out how many runs are to be scored

in the 11 innings to raise the mean score to 62.

@ 8 (b 81
(c) 83 . -(d) 82

The average of the ages of Sumit, Krishna and
Rishabh is 43 years and the average of the ages of
Sumit, Rishabh and Rohit is 49 years. If Rohit 1s
54 years old, then what is Krishna’s age? |

(@) 36 yrs- o (b) 45 yrs
(c) 24yrs o o None

The mean prbportional b.'efw-een 234 and 104 is.

@ 144 . () 156

(c) 164 (@ 189

The ages of Sirish and Kumar are in the ratio of
5 : 6 -respectively. After 8 years the ratio of their

ages will be 7:8. What is the difference in their
ages? -

(a) 8 yrs | (‘b) 10 yrs

(C) 12 yrs (d) 4 yrs ‘

8 [CB - B 417]
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35.

36..

37.

The respective ratio between the speeds of a car, a
Jeep and a tractor is 3:5:2. The speed of the Jeep
is 250% of the speed of tractor. Tractor covers
360km in 12 hours. What is the a{verage speed of
car and Jeep together?

(@) 75 km/hr (b) 40 km/hr

() 60 km/hr "~ (d) 55km/hr

Of the three numbers, the first is twice the second

‘and is half of the third. If the average age of these

numbers be 56, the numbers in order are

(@) 48,96,24 ~ (b) 48,24,96

(© 96,24,48 (d) 96,48,24

The average age of a committee of 8 members is
40 years. A member aged 55 years retired and his
place . was taken by another member aged

-39. years. The average age of the present

committee 1s

(@) 35yrs | -~ (b) - 36 yrs
(c) 38yrs . .(d)" 39 yrs
38. IfA=-;—Bande%C,th’eA:B:Cis-'
(@ 1:3:6 () 3:1:2
© 2:3:6 d) 3:2:6
2020 n IR -B 4171
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39. A train covers a certain distance in 50 minutes, if
it runs at a speed of 48 kmph on an average. The
speed at which the train must run to reduce the
time of Journey to 40 minutes, will be -

(@) 50 km/hr () 55 km/hr
(c) 60 km/hr (d) 70 km/hr
' 40. A bag contains Rs. 600 in the form of one rupee,

0.50 paise and 0.25 paise coins in the ratio
3 - 4 :12. The number of 0.25 Paise coins 18

(@ 600 - - (b) 900
| (¢ 1200 | (d) 1376
. V. Answer ALL questions. | (10x1 = 10)

41. Venkat spent T 89,745 on his college fees,
T 51,391 on personality development classes and

" the remaining 27% of the total amount he had as
cash with him. What was the total amount?

@ 185400 (b) ¥1,89,600
(© 191,800 @ T1,93200

 42. In order to pass in an examination, a student 1s
required to get 342 marks. out of the aggregate
marks. Neha got 266 marks and was declared fail
by 8%. What is the minimum passing percentage
of the examination?

(a) 36% | b)  28%

() 33% (d) 26%
- 2020 10 [CB - B 417]
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43.

44.

45.

46.

2020

A shopkeeper sells two watches for 308 each
On one, he gets 12% profit and on the other 120/;
loss. His profit or loss in the entire transaction
was, ' |

11 1
(a) 1-13% loss (b) 1:‘)_-,51':% gain
329 | & 320 o0
(c) 25 " oss . (d) 35-5—/0 gain

An article was sold at 16% gain. Had to been sold

for ¥.200 more, the gain would have been 20%.
Then the cost price of the article is :

@ 5000 . (b) 4,800
© T4500 = @ 5,200
Sunitha inverted an a_mouht of ¥ 50,000 to start a
software business. After six months Nischala
Joined her with an amount of Z 80,000. At the end

of 3 years, they earned a profit of ¥ 24,500. What
1s Sunita’s share in the profit?

(a) 14,000 () 79423
(© 710,500 (d) 10,250
¥ 73,689 are divided between A and B in the ratio

4 : 7. What is the difference between twice the
share of B and thrice the share of A?

(@) 13,398 b) 36,699
©  z46,893 d) 14,398
R _ R A171
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48.
the simple interest on a sum Of_ money lent for
2 years at 10% is T 40. The sum 18 ‘
(a) 8,000 - () 6,000
(c) ¥5,000 d ¥ 4,000

49. A retailer buys a sewing machine at a discount of -
15% and sells it for ¥ 1,955. Thus, he makes a
profit of 15% the discount 1s |
@ 270 () T290
© 300 - - (d 280

50.. A and B travel the Same_z distance at 9 kmph and
10 kmph respectively. If A takes 36 minutes
longer than B, the distance travelled by each is
(a) 48 km ®) 54 km
(c) 60 km d) 125 km

2020 12 ICB - B 417]

(@) ¥600

' f money will be

. ple interest on a sum of 7 . |
?]%osc;";?tzr 10 years. If the prmC}pal is tribled
after 5 years, what will be the total interest at the

end of the tenth .year?
(b) ¥900

() T1200 d T1150

The difference between the compound interest and
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[ Total No. of Printed Pages-lﬁ

|[CB-B417)
AT THE END OF FOURTH SEMESTER
DEGREE EXAMINATIONS
FOUNDATION COURSES - ANALYTICAL SKILLS
(COMMON FOR B.A., B.A. (PHIL), B.Sc.,
B.Com.(G), B.Com.(V), B.B.A., B.C.A., B.Sc.(F.T),

B.Sc.(ANIMATION))
(From The Admitted Batch of 2015-16)
(CBCS PATTERN) |

Time : 2 Hours - Maximum : 50 Marks

L. Answer Al questions.

o) (BHOBH aTraen (T, | | (10x1=10)
A) Various expenditures incurred in publishing a book
= Rs. 30,000
|
' Promotion cost Royalty
»‘ (B3RS $8) (oeahg)

_ Printing cost
Transportation cost " (QoBoR )

r Bare HE))

Binding
(Bo&oh)

Paper cost
(256 )
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1)

2)

3)

4)

(2) [CB-B417)

What is the expenditure spent on binding?

Bolofp B ) Lo8? [ ]
@) 5000 (b) 6000
(c) 4000 (d) 2000 \

What is the difference between the
expenditures spent on paper cost and Royalty.

DHE pE8 HBA m@@ P D8 S50
| [ ]

20&8?
@ 3000 (b) 4000

(©) 5000 (d 10,000

HoW much expenditllré spent on printing cost?
2080F gty Do ©dhgH? ' i ]
(a) 1000 (b) 2500

©) 4500 d) 6000

How much expenditure spént on transportation
~ cost?

Sare §%30 oS Indo i) JoS? [ ]

(a) 1500 (b) 2000
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(3) [CB-B417]

5)  What is the Ratio between the expenditures |
spent on promotion cost and to that of paper |
cost?

SIS atin8 S0k H5E weins Do o I8

O ? [ ]
(@) 2:5 (b) 3:4
(¢) 5:2 | (d 1:4

B) Study the following bar graph carefully? The

Production (in tonnes)

production of fertilizers by a company in “Tonnes™
over the years.

o8 Bog T Ao s8)f (kned) Bod dgorT
BREI6.
T

0T | | 80

~ T

T 60 1 '
60 = 50
50 -1 40 -
40 + ' )
30+ 25
20 1+
10 T
0 1995 1996 1997 1998 1999 2000 2001 2002

. Years

b 4

rM.. .. .
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6)

7)

8)

(4) (CB-1317]
% in the production of

What was dcclinc‘
fertilizers from 1997 to 19987

1097 Hol 1998 JHBe agYs” SRt To
[ ]

DoS?
(a) 20% (b) 15%
(¢) 25% (d) 30%

What is the Ratio between the production of
fertilizers in the year 2000 to that of 19977

2000 Ho1S® D &S)B., 1997 Hond® dHe

%88 Sog5ke A8 Qos? [ 1]
(@) 6:5 () 56
(c) 4:3 L@ 233

What is the increase % in the production of
fertilizers in 2002 as compared to that in

19957
1995 Ron Hod 2002 & Jo13H HYe 68

DWIHSL 3 Ko dod? [ ]
(@) . 120% (b) 80%
(€) 220% d) 150%
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(5) [CB-B417)

9) :‘n I.]‘_’W many years was the production of
f.:mhzcrs more than average production of the
glven years?

DJo a8186* iy vosETreE® HTHE AHe

SR8 508 dgysm 607 [ ]
(a) 1 (b) 2
(€) 3 d) 4

10) What is the difference between the production
of fertilizers in 1997 and 20007

1997 $8cin 2000 $ K0S Tres® JHo 658
- oy SgErso Dos? L

(@) 15 Tonnes (b) 20 Tonnes
(¢) 10 Tonnes (d) 25 Tonnes

IL  Answer All the questions.
O (DO 2T e (T°ATW. | (10x1=10)

1) Find missing number

1,2,4,7, 11, _2_ o
(a) 15 (b) 16
“(c) 20 (d) 25

Scanned wi'&TCamScanner



2)

3)

4)

5)

(6) -
IFind the odd man
196, 225, 382, 400
DD TP MH00S0d
(a) 225
(¢) 196
Find the odd man

11,13, 15,17, 19
DY T Hgos0d
(a) 13

(c) 17

Find the missing number

1,3,9,27,81,243, _2 .

(a) 250

(c) 729

Good : Bad :: Friend : -
(a) Brother

(¢) Colleague

[CB-B417]

(b) 382

(d) 400

(d)

(b)

- (d)

(b)
(d)

15

486
1000

Enemy

Cousin

Scanned with CamScanner



6)

7)

3)

9)

10)

(7)

Cattle : Herd :: Sheep : 9

(a) Crowd (b)

(c) Flock (d)

4: 20 6: 2

(a) 36 (b)
(c) 24 | (d)

5,10,25,50,85 2

@ 9% (b)
) 120 (d)
Find the odd man

Mother, Sister, Brotﬁer, Wife
(a) Mother (b)
(c) Brother | o (d)
AZ. CX,EV,GT, _?_

(a) HS (b)
(c) FU (d)

| [CB-B4I7]
[ ]

Drift

Colony

42

40

100

130

Sister

Wife

IR

MN

Mirn over
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I11.

Answer All the questions.

o ,éog, BATPETED (STPAENKW.

1)

2)

3)

4)

(10x1=10)

AB = 2:3,B:C = 1:2then A:B:C is [ ]
(a) 1:2:3 (b) 2:3':6

(c) 3:2:6 (d) 1:2:6

Divide 500 Rs. in the ratio 4:1 is

500 grnod 4:1 95)86° daed) 1]

() 200,300 (b) 400, 100

(c) 300, 200 (d) 100, 400

Mean proportion ;of 36 and 81 is?

36, 81 © 55 @0 Jos? [ ]
(a) 24 ' (B) 30.

(c) 42 | (d) 54

The average of 1st “n” even numbers?

SA “n” SBKogge éD‘%a D0&? [ ]
(a) n+] (b) n
(¢) n2 (d) n(n+l)
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® (CB-B417] |

The average of al] eyep numbers up to 500?

5)
500 HB8E Ko NBBogger Ho008 Dos? [ ]
(a) 200 (b) 250
(c) 251 (d) 501

6) The prt‘asen-t ages of A and B are in the Ratio 5:3.
Sum of their ages is 4¢ years. Present age of B is?

A, B o SAHye G5 G 5:3, HaHAYe Iwgo
4Q dolen eange B ) (5508 S6H%0) Do? [ ]
@ 15years (b) 20 years
(c) 25 years - (d) 10years

7) Acar moves at a speed of 72 km/hr, then its speed
in meter/second is? | '

28 S 72 8.8, /ifon Fo8® (BairBoBH Hand o

Ko /3. o Jos? [ ]
(@) 15m/s ~(b) 20 mJs
() 22m/s (d) 24 m/s

A Train crosses a pole in 10 sec. The length of the
Train is 200 mtrs then its speed is?

200 Son e Beo 10 268 Qoa:v“o&moega T3 350 dos?
[ ]

8)

(b) 30 m/s

(a) 20 m/s
(d) 50 m/s

(C) 40 m/s
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A ICB-B417|

Convert the speed of 40 mys into kmph.

9)
40 m/s Ax0s> 8.8, [fobrest )08, [ ]
(a) - 72 kmph (b) 126 kmph
(c) 144 kmph (d) 216 kmph

10) Find the'fourth proportion of |2, 15, 24 2
12, 15 300050 240 TPL0 ©NFEo Jog? [

@) 20 - (b) 27
© 30 - (d) 60
IV. Answer All the questions.
o HHOS ST @A, | (10x1=10)
1) 36+6x2+4-2=27 [ ]
(a) 24 | (b) 14
© 16 @ 20
2) 27+3x3-15-{125 +5}=2
L]
(@) 13 (b) -13
() 12 d) 0
3) LCMof18 and 27 9
18, 27 © & 30,55, Q0&? [ ]
(@) 36 b) 27
©) 54 (d) 108
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4)

5)

6)

7

(11 [CB-B417)

HCF of 12 and 167

12, 16 © 5.3:.8m. doe9 [ ]
(a) 2 | (b) 4
) 8 d) 16

What is angle between two hands of a clock at
4:30?

4:30 85390 5¢5 Bothr Swthe o o 2087 ]
(a) 30° (b) 45°

) 50° ) 60°

Mirror time of 3:25 is ?

3:25 $%00H05% (8o $Ho Jod? [ ]

(a) 8:35" | (b) 9:35
(©) 9:25 d) 8:25

If J anuary 1, 2001 is Sunday, then which day of
the week on Jan_uary 1,2003 ?

2358 1, 2001 sHTE0 @ond 598 1, 2003 & &%

HeoHH0od? L]
(a) Monday (b) Tuesday
(c-) ‘Friday (d) Saturday

[Turn over
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8)

9)

10)

(12) (CB-B417)

Pointing to man, Radhika Said “His sister is my

daughter’s brother’s mother”. How is the man

related to Radhika?

2.8 5580 63800 T°0Y mer IGHH ‘@B T AP0
T Koot A SXH D) 9, o008 & &8, THKs

DD @rH5? . [ ]
(a) Brother (b) Father
(¢) Uncle (d)  Cousin

IfA is the brother of B; B is the Sister of C; C is the
father of D; How D is related to A? |

- A,B &%) 5teH, B,C &g ¥se C, D &wg) Solé

oowd D, A% SorHio? - [ ]
(a) Brother ~ (b) Sister
(c) Nephew - (d) Can’tSay

Introducing a woman, A man Said “She is the Mother
of the only daughter of My Son”. How is that woman

is related to man?
2.8 (R0 F8R 2.8 DB ser TIPD ‘b, T WG
Bg) 2.8 2.8) Erdd> @) $Y”. 0008 © [, HHHHIS

ARSI [ ]
(@) Daughter (b) Daughter in law
(c) Wife (d) Sister
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(13) [CB-B417

Answer All the questions.

O BHH Bregraren (@A,

I

2)

3)

(10x1=10)

A man sold an article for 960 Rs, when he gains
20% find his cost price?

a8 X8 a8 S0P 960 BrneH @517‘;5'35 20% 3o

S0, 08 @) &%) Jo Jo¥? [ ]
(@) 800 Rs. (b) 900 Rs. |
(c) 850Rs. (d) 1000 Rs.

The cost price of 3 articles is equal to the sellmg
price of 5 articles. Find Loss %?

3 SRV FH3o, 5 SKode eagbéé S0 ‘cézﬁra’)c_) QNN

5%) S§m80 dos? | [ ]
(@) 30% (b)) 40%
© 50% (@ 25%

400 candidates appeared for an €Xaminatjon, of
which 60 are failed. The pass percentage is ?

400 Doegden a8 HOEH 58288, wothrst 60 08 H8Y,

éoao)é’ab 6@6&5 r3°éo aoé"? [ ]
(a) 80% (b) 85%
() 75% (d) 90%

[Turnover'
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4)

5)

6)

(@) 300

(c) 600

I |

AN |

2.8 domse® 20% Dend 84 eond e oW Qos?[ |

(a) 400 (b) 360

(c) 420 (d) 500

If 10% of a number is added to 540, then the result
is the number itself. The number is?

2% Hoggt® 10% 3% 540 803 $080 e oF

Sogg S0, & Hogyg Do&? [ ]

(b)) 900

(d) 480

Find thie simp-le interest on a sum of Rs.8000 for 2

years at 5% p.a.?
8000 Brien edend 5% aéé T TIPS 2 DodSores
53) o Do? [ ]

(a) Rs.800 (b) Rs.1200

(©) Rs.1600 (d) Rs.2000
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7) A sum of Money amounts to Rs.1200 in 2 years
and Rs.1500 in 5§ years. Find the rate of Interest

per annum at simple interest.
a8 BSE0 o8 wven 2 wond® 1200 ERIe mmg
008 5 Sonedt 1500 gmenrs 5000, ©ond :)é

6@.»3065"? [ ]
(@) 10% (b) 15%
() 5% @ 8%

8)  The compound interest on a sum of Rs.10,000 for
3years at 20% p.a. is?

eden 10,000 Seney 20% a’oé 6@5 3 ;()oa{)ésomoé ‘3533

SESE dos? | | [ ]
(a) Rs.1440 (b)) Rs.7280.
(c) Rs.6840 (d) Rs.17280

9) Ajay and Vijay started a business with a capital of
Rs.20,000 and Rs.30,000 respectively. At the end
of the year they earned a total profit of Rs.14,000.

Find the share of Vijay.
e 00 Dadben a¥ o) 20,000 Sruen
$6a5n 30,000 EP1e8° (FEofoDBO. 2.8 KoSEBO KHAD

50508 14,000 Eriien Indo egorr Sk, Jadd
[ ]

G, aTer 20&s?
(a) Rs. 5600 - (b) Rs. 7000
(c) Rs. 8400 (d) Rs. 9800
[Turn over
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(16) |CB-B417]

10) A and B invest in a business in the ratio 3:2, ifS%
of the total profit goes to charity and A’s sh.are 1S
855, then the total profit is?

| o8 ot A0 B o @ng pigathe 358 312
Swdo ereSoB® 5% ergford a8 é‘Sﬁ‘DOé K)o;géa Joegore
aNd @oHE® A Go¥) To¢r 855 Senen 0008 F0B0

50 D0es? | [ 1
(a) Rs. 1425 (b) Rs. 1500
(c) Rs. 1600 | (d) Rs. 1576
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o E END Of

ATTH E"OURTH SEMESTER DEGREE

XAMINATIONS
ATIO

FOUND N COURSES-ANALYTICALSKILLS

NFO
(Col\;l‘égm - '}3 B.A, B.A (PHIL), B.Sc, B.com (G),
»B.B.A,, B.C.A, B.Sc (F.T), B.Sc
(ANIMATION))

(From The Admitted Batch of 2015 - 16)

CS PATTERN)
Time : 2 H ” Maximum : 50 Marks
. Answerall &UC\SU})S (10x1=10)

of) (HHO esaraven lf:t’d’méw
A) Study the following table carefully and answer these

questlons |
Percentage of marks obtamed by six students in six ®
different subjects. -

Subject  History Geography Maths  Science English  Hindi

Students
(out of 50) (out of 50) (out of | 50) (out of 100) (out of 75) (out of 75)

Yukta 76 85 69 73 TR

Amilya 84 80 85 78 73 92
Sindy 2 67 92 87 69 76

[Turn over
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(CB-B417)

(2) 8
58
Laxmi 73 72 78 69 65
Eswari 68 79 64 91 66 )
Visal 79 87 88 93 82
| 5 .
25 il 508 & strot Dargen ¢ & W‘i"@" S
Selnen e aSwdId 8 egrdorT 3’&5‘@%&6&
DSBS HEDOB0),
ained

1. Whatis approximate percentage of marks obt
by Sindu in all the subjects?

)

o) $PLS" DD bogh Tok), ST Sr6pe TEO0

20e5?
a) 80% - | b)  84%
c) 86% - d) 78% ‘
2. What is the average percentage of marks obtained
by all students in Hindi? |
S TR elalel 3)0"5%)@ S0 ;6@5865 ﬁo&&oaé Yoty
e E0 08?7
a)  77.45% - b) 79.33%
c)  75.52% d) 73.52%
3.  Whatis the average marks of all the students in
mathematics?

Hh&08® Jndo Durgthen Gws) Hiken SR Jod?
a) 128 b) 112
¢c) 119 d) 138
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. \J) [CBR-B4
t1St 1
what 1S the verage marks obtained by all the |

studeniSn Geography

() ﬁwﬁsﬁawéo@ oo DEngtpen TG ks K
Jos? |

) 3826 by 37.26

) 3716 d) 39.16

5.~ Whatare the total marks obtained by Vishal in all
the subjects taken together?

IE0 B HPHoSH LewHED HTS FPHODS Awdo
SrB)eD od? |
a) 40175 b) 410.75
o 40275 ) 42075
B) Establish the relationship in the question given

* 5% below:
BIHDSA@ES (HEPS P ROTI HomogrR) Agamosod.

| oXe
939 5 (o
(a) b) (¢ (d)

6. Doctor, Male, Actor
DS, N8, Senc.
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- <~ (CB-B417]
(4) o ; : o [
7. Table, Furniture, Chair ‘:,m
RSN
Bend, $e5, HE) % D
8. Father, Mother, Child & - 95
Soff, 8D, 0 v 5 ®
o >o
9.  Gold, Omament, Silver 3 “W
I > % o
QOIMTE0, ), Jok. N Y 3 ]
10. Rose, Flower, Lotus | nl}); o
foerD, S35, Seod. - rs
Answer all questions. (10x1 = 10)

o) BHe ‘23aT°E0e0 (S0,

11.

N
11,10, =, 100, 1001, 1000 ; 10001

@ 101 b) 110
o 111 @ d) 1101
o ZT'\,‘ RAFEIEN '

12. GH,JL,NQ, SWYD -

a) EJ
Cc) EL

B W
FL

0 |
13. J2Z,K4X,17V, =, H16R, M22P.

a) T
¢)  LI2T

b) LIS
d  LUT
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15.

16.

»5}/

18.

19.

aTy 1 o

9% ' () % |CB-B417]
7584:5362 Y.

) 867 b 2451

¢) 253 o 2351
CLOSE:DNRWJ::OPEN:?

8  PRHR b  PRIQ

¢)  RPJB g  RZWR
Choose the 0dd one: |
- XS D HBoNot.

)  12:96 b 13:117
) 1S 120 d) 16:128
[fA=26,SUN=27,then CAT=? Az 24
A=26, SUN =27 s CAT=? )
2 24 bp 27 9(/“?’3

@ 57 d 58

Find out t&g\wrong number in the series. e T
@5555 bz n‘; f‘f @ ;Si@/o& /\ |
1 48 5 19 AY e
L b
a) 48 AP
) v98 d) 194

ab aa bbb aaa bbba. .

a)  abba b) baab

c) aaab d) abab

~ [Tumover
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(6) (CB-B417]

20. January : November :: Sunday : 9

a)  Monday b)  Tuesday
¢)  Friday d)  Saturday
III. AnswerAll questions. (10% 1=10)
2] @’)-glesé: £357°20060 Pdﬁnzﬁn.
21. 666 +6+3="7
a) 37 | b) 333
¢ 111 d) 84
22.

- 23.

The ratio of two numbers is 3:4 and their H.C.F is
4. TheirL.C.Mis |

3:4 2:5)88° &%) Boto & Soggo. K.3.50. 4. oond &
5. . od? | |

a) 12 b 16

c) 24 d) 48

Which of the followmg are in descendmg order of
their value?

&iﬁ§ &)é&aﬁ&iﬁ FES® DO STt @évo“més -&sé&&.

2_7__8_ I 5811 7

9°11’15°17 b) ——,—, L
S LA 91571711

I1 7 § 5

_:"“"'———,—_ ll 7 5

17°11' 15" d) T %
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(7) |CB-B417]
Simplify.
sr&goosod,

L | 3
a) . b -

25. Itwas sunday on 1*January 2006. What was the day

of theweekonlJanl,2010?
1 35556 2006 sdard0 @pa:é 23330 1, 2010 a7 &

6o .
~a)  Sunday b) Saturday
ebaro | - &0
¢)  Friday d) Wednesday
o S TPE0

[ ]
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26.

27.

29.

(8)
nd the hour hand

The angle between minute hand a0

of a clock when the time is 4. 2018 ;6
fol 2 %

K08’ B0 4.20 55085 D &00e)

<85 e Swen Mo gb¢20 Doés?
a) 0° b) 10°
¢) 5 d) 20°
‘P’ is brother of ‘Q’, ‘R’ is sister of ‘Q’. How ‘P’ is
related to ‘R’ ?

Q" & st P’ ‘Q % RS0 ‘R’ wovd ‘R’ ®
5% ©HE0d.

/

‘P’

a)  Uncle | 'ﬁf Brother
wos RS

c)  Sister o d Cou;in
I . %s§

% 0f 762 + 44% of 568 = 524.24

2 24 b 36

c) 48 d 60

Theyv lue 'lb H

\[.& 4x 894 x 804 — 3,56 x;46/><

894304 t&ﬁm 3456 x)l;%

DS Nog?
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o) 053
) f f?.0538 l;) 5.38
30, One fifth o ) 53.8
same by 10 fumber €Xceeds one-seventh of
Y€ Number ig. ’

&8 ;60&)3 DQDB’JQS‘S 1

/5% %
508 grKq Sod 1 °% grrio o3 Kong g 1/7

0 D595, ewomis e Sogg Jog?

N A b 150
c) 175 9 200
. Answer all questions - O (10x1=10)
o) BES awen oy,

31. Findthe average of all the numbers between 6 and
34 which are divisible by 5.
6 0Bk 34 5)(5.5:‘19 5 3 grRosotd Kogge s Siken
VIR TA NS -)&‘S.‘\’ZP"")’? 230 < %DD—‘D
) 18 B 20 -
c) 24 d) 30 |
32. In a school with 600 students, the average age of
the boys is 12 years and that of the girlsis 11 years.
Ifthe average age of the school is 11 years 9 months,
then the number of girls in the school is?
600 K00 Jerghen &) a8 PEBTOE, et EE)
s Kexn HOHR) 12 Sod&)Banen B erdse D
sy 11 SodE)Bsnen. w836 Bvgo FEwOE
30",55(39 Krsen Sy 11 K)béé{\)é&’m@ 9 Jeen o 8
Sez06" EPDSD oB?

I'Tom over
Scanned with CamScanner



33.

34.

35.

36.

250
150 b)

a)
o 350 d) 450
: : : <« <on. In two years
24 years older than his son
A man 13 he age of his son. The present

his age will bc Wicc t
age of the son 1S :
e.8 K58 SAH) 080 HIPED Sof 24 HodE)Tlinen

D&y, Botd éoa’aégémeéﬁ ©ED Skt ©ED I
4 g BoBoden, ©ond B {558 S DoE?

a) l4years b) 18 years

c) 20ycars d) 22 years
Present ages of A and B are in the ratio 5:6. Seven

 years hence this ratio will become 6:7 respectively.

Whatis ‘A’ s present age in years?
A 0050 Bo (556 Sctiinye I8 5:6. 7 50585500
S8 D SR, DB 6:7 oS frgso A’ @)

Sdhl) does? » - |

a) 35 € -
b)) 42 ¢

c) 49 d 37

H2.A73IL3'=4CthenA:B:Cis lld%

a) ,2: 3"‘;Y4 ’ b) 4:3:2

C ,_\'\6:4:3__‘ d) 20:15:2

Ina school. the vy
i : ass?go%mﬁlo of the number of boys to girls
stud 2. .It there are 160 girls, the total number of
€nts in the schog] is: G . [,( 3
LAY Z 3 AE
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37.

™~
s
\\
~

38.

o (']l) /D%O\O
18

o }J;B-B‘ll?]
. Ny \
. &, Caiw erdBe » gos.m;’a @ -

D&Y 8:

aoéaw@"l 60 S
DoD rpgen gots wond Iwdo

o rosiy S
d) (%4
a)  10p I Howg 2037

) 26() b) 250

orkj .
of work i l(l)( Ing 8 hours per day complete a piece

days. To compl kin8
| AR AL plete the same work in
days, Working |5 hours a day, the number of men

required jg .

12 2208 $55ien Bty 8 Hobes FHpS S .8
SO0 10 88006’ 08 S, of S0 S 15
RObL F°50% 8 Pared® HwRoSSBLE) JosLod
BP0 8B,

a) 4 b5

c) -6 d) 8 |
10 men and 15 women together can complete a
work in 6 days. It takes 100 days for one man alone

to complete the same work. How many days will be
required for one woman alone to complete the same

work?

10 Hr00 HEH DB 15 K08 (oo KO 2.8 IV 6 .

Fares® I8 SaHre. 8 S a8 HLL Taduersd
it HegEee0 100 Bewred oonis o350 ade B oY,

shored® DobHO.
a) 220 b) 125
¢) 145 d) 150

[Tum over
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(12) [CB-B417,

39.  Two trains start from ‘P’ and ‘Q’ respectively ang
travel towards each other at a speed of 50 km/hr

and 40 km/hr respectively. By the time they meet.
The first train has travelled 100 km more than the

second. The distance between ‘P’ and “Q” is.

BotH Bey ‘P’ ®ba ‘Q’ S gy &8 IS 288
SR Kot 50 B Bt 40 86°00eag Sriogh
BasrRyTnow. @ EOS $LATHE Fntsd Sew BoKs
Bev %o 100 86°er efEore BHasrdodIO wows
‘P’ 583k ‘Q’ & g Ko Brdo Jod?

a)  S00km “b)  630km

¢) = 660km 'd)  900km

40. A man walking at the rate of 5 kmph crosses a bridge
in 15 minutes. The length of the bridge in metres

1S :
2 Bt o 5 86° Doer Sriod® e 2.8
50855 15 Avares® mrérdRD. wond & $08% &Y

DoYS Jos?
) 600 b) 750
¢) 1000 ‘ d 1250
V. Answerall questions, (10x1=10)
O, PEHOD asareyper [0, o

41. The difs :
The difference between a number and its two-fifth

i :
$310. What 18 10% of that number?
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42.

2

I |

v

' S’L;LS’ ~1§30 2{{5-5 \0\/ \O"\/
08 9085 080, gyt -i— Sothe 55 85 510 ey
o 5088 1005 309

) 1275 b) 85

c) 204 d) 51

Inan election 3 candidate got 84% of the votes and
elected by a majority of 476 votes. What total no.
of votes polled? |

28 QB0 Rt ok wgfB 84% L4 FHOD 476 &4

| aaazf@é@s ReoDPoBar. ©ows 0808 SN Indo L&y

Ry S | .
a 672 b 700
¢) . 749 - d) 848

The cost price of 19 articles is'equal to the selling
price of 16 articles, Gain percent is.

19 S50 B8, 16 HHe oS $5% SEmSHS

epgf B°B0 D08? |
a) 31—:7"% | b) 15-1-—5-%
19
182y
c) 47" d) 20%
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(1) S

Jling an ambrella for Rg. 300. A shopkeeper
1 By selIMES L a clearance sale. the shopkeeper
NS ()% during ac sale, ' -
&I‘;'u;rqbfi discount of 10% on the marked price. His
M ( L ' . .
;-u'n percent during the sale is?
o8 BorHd & 30005 95RM° 2.8 Krsreaotrdd 20%
ereey Q. BAHOR DS Botigom e soTyS
& b
S8 10% &0 QQJK’Qwa VS gogfars0 D0s?
a) 7/ b) 7.5
c) 8 | - d) 9
45. <A’ Starts business with RS. 3500 and after 5 months

‘B’joined as partner. After a year the profit divided in the
ratio 2 : 3. What is B’s contribution in the capital?

‘A’ 28 TS0 &, 3500 08° FEofonmeis 5 Fee
S%ard ‘B’ grriplne sarsos® Somme, DoRBorossm
SN ergroD 8.2:3 GBS a’Joa’némg, ‘B’ @)

O350 o)oé? , | :

Q) Rs.7500 b)  Rs.8000

c)  Rs. 8500 d  Rs. 9000
46. ABC,

started a business with Rs. 5 0,000. A invested
0 more tha_n B arid B Rs. 5000 more than C.
the total profit of Rg. 35000. A receives -

A |
,go 98 C ey TR0t K. 50,000 Blo:vatas 28
TR, [@Sofomey, A &». 4000 3wde B gom

&S
6 S8asy B &r. 5000 o C 808 D¥sres;

Rs.400
Out of
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% ?oe.geo&m QQ{S(‘::@ )
3 8. Box
/ oo A dog i 8})'\)0‘8 Wdo ergio &, 35,000
X Ooar,

a) 8400 '

)t b

A sum of
47 Rs. 12500 amounts to Rs. 15,500 in 4

years at the rat : , .
of interesto ¢ OfSImplc interest. What is the rate

RS W
&5 S0&o &, 12500 G588 4 SodETreet &r.
15900 e 88035356, oo 34 Bew 2087
a 3% b) 4%
c) 5% d 6%
48. The rate at which a sum becomes four times of it-
selfin 1S yearsatS.I, willbe:
88 S0 TPO8 4 BENP ©IHL e a’aé [Bs~Go 15
B0SBHEKmen @ond, éé Béw 2od?

L. 1
a) 15% _ b) 17-2-%
c) 20% d  25%
The difference between compound interest and
simple interest on an amount of Rs. 15,000 for 2

years is Rs. 96. What is the rate of interest per

49.

annum?
|
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50.

,1’1 1 A
r % | ch-B4l7l

(16)

558 ©
S, 15,000 3 2 S0SKT°OH 554 £,p000 &8

é)(ﬁes &’)56‘{5:60 S, 96. QAN @'ngé) éé 6@ 306?
y 8 by 10

At what rate of compound interest per annum willqa
sum of Rs. 1200 become Rs. 1348.32 in 2 years:

. 1200 e 08 w0 SESE (570 Both BosEBEDOS”

. 1348.32 en r 88035

a) 5%_ | b 6.5%
c) 7% - d)  7.5% (-
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ATTHEEND OF Foyy RTH SEMESTER(CBCS PATrERN)
DEGREE EXAMINATIONS
FOUNDATION COURSES-ANALYTICALSKILLS

(COMMON FQOR B.A, B.A (PHIL), B.Sc. B.COM(G),
B.COM (v), B.B.A./B.C.A./B.Sc (F.T),

B.Sc (ANIMATION)

(From The Admitted Batch of 2015-16)
Time : 2 Hours Maximum : 50 Marks

| Totat No. of Printed Pages-23

.  Answerall quesfions (10x1=10)
B (BHODH SrerSKnen @"o‘iwa’m |
; Direction (1-5) : Study the following table carefully to-

answer these questions.
BIHBDDES SEESH Hegorr 036%808 BN f)dﬁ:ea&a’) @%&oé

PRSIV AL WO aa‘)ogo&
Population (in lakhs) of three states over the years.
3 oo AT (0ged®) 2§ HSodSTros®

1700

Year (2009 2010/ 2011} 2012| 2013| 2014

&0

Sta

(S4EVRE)

A~ W45 4.8 5.2 5.4 5.8 6.2

B 3.2 3.6 3.4 3.8 4.1 4.4

C 5.6 5.5 5.8 6.3 6.6 6.9
[Turnover
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d 3.6Lakhs ' 5
What is percentage increase in population of State
‘A’ from 2009 to 2010.

2009 S00 2010 56% oo ‘A &5 asigogP DO
F$0 Do? -

a) 5%

b) 5%%

c) 6%

d). 6-32-%

What is the difference between the total population
of all these states in 2011 and 2012 respectively?

0011 $6dfn 2012 & o) TFoango aTere D
Ko 8o Dod?

a)  1,00,000
"b) 90,000
¢) 1,15,000
_d) 95,000
: ‘
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A= F

What js the average population of all three states in

4.
20139
2013 Ho8)50s® Kt TvEe Bt agege J08?
a)  §.25Lakhs ,
b)  4.5Lakhs
c) 5.5Lakhs
d) 4.2Lakhs
5. What is the ratio between total population of all

three states in 2011 and 2012 respectively.
20115805 2012 Sos8)Boes® Bngo S Tofe

Jwgo asTrgre s o Q8 D?

a) 155:144
b) 15:13

c) 133:144
d) 144:155

Direction (6-10): Study .the following Ple-chart'
carefully to answer the questions.
BIHSDDBS HEssdEo egrdorr (6-10) @-a’&eaéa

233I°20eN aéso&
' Degree wise Break-up of expendlture of a family

in a month. Total amount spent in a Month is Rs.

45,800.
28 I8 o8 Kewowo G e Ddoeen &Lﬁvé”

So6® 328 Iwdo ety Ern45,800.
a Commdfvj
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4)
6. What is the amount spent by the famil)’ o
commuting.
Edwdof D o Hénoeo 30 9y Swgo D08?
a) Rs.10,076
b) Rs.10,534
¢c) Rs.6,870
d) Rs.8,702
7. What is the respective ratio of amount spent by
family on Medicine to the amount spent an
Groceries? | ' |
Hevomoth HEDS oy 3D Ivgo HOAW
SHPOX00 P HL)BIL, Swoed D S Hod?
a) 1:2 "
b)) 13:21
¢) 35
d 11:23 |
What is the total amount spent by the family on

entertainment and shopping together.
DSS0 Bk ﬁ"?ooﬁéf’._: Iodore & Hevowo a8
P B0S Fodo os?

a) Rs.9,618
b) Rs.13,282:
¢) Rs.13,740
d) Rs.11,908
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(3) [CB-B417]

Total amount spent by the family on Groceries,
Investments and Entertainment together Forms

‘approximately’ What percent of amount spent on
commuting?

BenopoTh HIPODD, Deguthen HOD DTEO P
32 Awdo PRy BoSHWoHP ‘EdnBof’ %0 BRI

Emgoés 20 FS07?7

a) 209%

b) 154%
| c) 218%

d 76%

Amount spent by the family on Medicine forms
‘approximately’ What percent of amount spent on

shopping?

£60020 T ‘DEVS’ D PLD) VIS Iwdo KOBHOSHT
20 2 9By RS Ingo &° Jod FEo?

a)  43.67%
b) 49.52%
c) 57.89%
d) 61.89%
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(6) [CB-B4 7

IL Answer all the questions. (10x1=1¢,

O, DHOH BSmgrssven (@dnd. | o
11. What should come next in the following latter series,

BIOSAHRAS egssve (F8 68 s 53) e5so da?

a) A
b V
¢c) U
d W

12. Which of the following will come in the place of 2.

HIM = KMP OQr 2 /BE
O35 8&° 2 FSos® 98 Sikiob.
a) SUX |
b TVY
c) UwWZz
d Svz '
13. Find out the missing number : 20, 19,17, (2), 10,5

é&)@‘w:\i D080 EBRC05m.
a) 13
b)" 14
c) 15
d 16
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14. Which of the following has the same relationship

13.

as that of ROCK : CROK?

ROCK : CROK & &8 %8S Somoto ax & B9
T8 da?

a) BALE:ELAB
b) COLD:DOLC
¢) MEAN:AEMN
d) None

‘Petals’ are related to ‘Flower’ in the same way as

Bioen’ BoPOLETS DI ©oNd SBELE How0F0

a) Tyres related to Car.
S5 B

b) Clock related td time.
Hased8 K&aSrBo

c) Book related to Binding.

HdseeH Bokoh
d) Desk related to chair.
éoéaé 653,

J1Thrm aver
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17.

(8) ICB-B4]7}

Numerical Relationship 4:12

4 : 12 BogrmgHBN %0200

a) 10:16
by 3:4

¢c) 9:27
d 5:8

Three of the following four are a like in a certain
way-and form a group. Which is the one that does

not belong to the group

B BS@aS Kt Hrren a8 SEIFE® &8 (rYSD
$000B0DSY. & (PHBH Bowogo B Do HB?

a) Pub
b) Goat
c) Cub
d) Foal
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9) (CB-B417]

18. Inacertain code ‘GUIDE' is written as 49132 and

19.

‘BEAM? is written as 8257. How is ‘IMAGE’ written
in that code.

2.8 B8 epe® ‘GUIDE’% 49132 e 00 ‘BEAM’
% 8257 e 0 od 866° IMAGE’% 220
EPRE? , |

a) 17542
b) 15742
c) 27541
d) 18542

Pointing to a Boy Meena said, “He is the only son ,
of my grandfather’s only child”. How is the boy
related to Mrs. Meena.

b 0 amand PO, o8 S o8 a8 HLH
DBE HBEPED © B, AV ésargo» NP HOVOYO
LOR aTH. |

a) Cousin.
b) Uncle
c) Sister
d)  Brother
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» denotes *-’; ‘R’ denotes ‘X

1
20. If ‘P’ dcnotes “-- _ |

and‘T’ dmntcs‘+ then 24T 16Q 32P 8R4=7? ;
‘.’ ‘R’ ‘X,”"é)::
P et Qe R

"r* S 4+ epv;)oa.é 24TI6Q32P8R4 9*‘

a) 24

b) 39 '

c) 40 | |
d 4 |

II. Answer all the questions. (10x1=10) |

o (HHOH HEPTESLIeD (Fo0D.

21. Thesum ofthe squares of two consecutive positive
odd numbers is 650. Which is the largest number?

B0t e S B 3 Sogge Sore Iwdo 650, @03)26
©0tHEED oJ(‘Sr\)Oﬂ)FS D0es?

a) 17
b 23
c) 21
)19

!
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(11) [CB-B417]

. 3762 4
22. OutofFractions 39°7°3° and 1 what is the sum
of the largest and smallest fractions?
' 376
oS Dabwdd @6'3965 3y 77' -i'éabdﬂ)) ‘% o&°
X 1) o)CS 20350 88D HJoo wdo dod?
17
a) 77
13
1=
b) 65
13
1___
c)_ &
y e
T
21% of “?” + 16% of 3400 = 1286 - 427.
a) 1500
b) 150
c) 1400
d) 1600
[Turn over
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] P
24, 375+ -;-qf(24+33)—13—2—J—

23.

26.

(1<)

a) 2.75
b) 2.5
¢) 225
d 175
1524
TheL.C.Mot3,6,9,27
152 4 |
36'9°27 ¢ SO
1
?‘) 54
y
) 'y
20
c) 3
d 2
) 3

r)

A clock rings at 1 O’Clock, 2 O’Clock, 3 O’Clock
and so on. The number of rings in a weak would be
2.4 K&aeso 1 O’Clock, 2 O’Clock, 3 O’Clock eern
@08, @and a8 808t DY P Brrbdod.

a) 256
b) 176
o) 156
d 168
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27.

28.

29.

\IJ”

1~ —

What will be the day on 13" October, 20167

2016 2-9538.)6) 13 &&%e?

a)  Tuesday

b)  Wednesday
€)  Thursday
d) Friday

‘P’ is sister of ‘M’, ‘N’ is brother of ‘Q’,*J is brother
of *‘R’. who is sister of M'and N. How is ‘R’ related

to ‘P*?

‘P’ M % 880 ;'N’ ,Q % kst ‘T, RS LB
‘R’ M %80 ‘N’ e 856 @ansd ‘R’,P8 HHHE?

a) Sister

b) Brother

c) Brother (or) Sister
d) None

32 —1-—1—1—~11=?+2—1-
7 14 14 7 13
a)‘ 1;!7-
b 1
c) 1%
d) None
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30.

IV. Answerall questions.

+99. 09+9,09+999=‘-?

99.94+9.99+0.99
a) 1123.06
b) 1218.06
¢) 1345.06
d) 144.06

-~ (10x1=10)

o) BHo QXRHSmen @"o‘inaém

31.

The average weight of 48 students of a class was
54kg After 4 new students Joined the class, the

average weight increased by 2.5kg. What is the
average weight of 4 new students who Joined the

class?

48 doesen ﬁe: SEK865 0 Bkt 0t 54 Sden. &
S5158° 4 198 8 dovgen JB50%S BKE» D)
2.5kg e» DOAKH. a0 SEKae® BRS 4 1 Jgie

Dr5en 228s) Hos?

a) 88.5

b) 84.5

c) 86.5 |

d 82 l
|
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33.

R

(15) [CB-B417]

A certain sym is aivided between Ram and Mohan
in the ratio 14:9. Ram gets Rs.3265 more than that
of Mohan find the sum.

o8 Juged ooFH HOKH IreSen 14:9 S’
HOH%0brt. T & 3265 en eSS Bo LY

0BG owE Ingo AE0) dod?

a) Rs.15019

b) Rs.15109

&) Rs.16019 )
d) Rs.10619 |

‘x’ 1S 36 years old and ‘y’ is 16 years. In how many
years will‘x’ be twice as old as ‘y’?

‘x? BasoRy) 36 HosyESen Ak Y’ Babiy 16
BoBHEBE0m @oNd IR SoSET oS ‘X Sy ‘Y
SO Boloden?

‘a) lyear

'b) 2 years
c) 3 years. |
d) 4years
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3S.

(16) [CB-B417)
A train travelled distances of 1 0Okm, 20km and 30km

at speeds of 50km/hr, 60km/hr and 90km/hr

respectively, The average speed of the train was

&% Bev 10km, 20km 6cin 30km dpovo{n 50km/
hr, 60km/hr 60w 90km/hr 3r08° (HasrBods, ede

Sk Higen Jro Dod?

a) 60 km/hr

b) 66.67 km/hr
c) 69.23 km/hr
d) 61.5 km/hr

A constable is 114m behind a thief. The constable
runs 21m and the thief 15m in a minute. In what
time the constable catch the thief?

2.8 SRS o 114 oty Tt HERGETND.
28 DS eAPenS 21 abéoy KOS &0k 15 Sveoy
SONHDY), © SAYWS G0N dod $HHchost
EPBOETD? '

a) 16 min
b 17min
c) 18 min
d) 19 min
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A man bought 5 shirts at Rs.450 each, 4 Trousers
at Rs.750 each and 12 pairs of shoes at Rs.750
cach, What is the average expenditure per article?
2.8 S5 b 5o 18 Em1450 &5p, 4 Frotnoid 18
S T50es SPPS S0y 12 wio amepsy 1 a8
B T50e0 S Sbrfen BRarth. woni a8 SIS
OS5 P&yY) DS Bisen Fgaho dod? |

a) Rs.678.50
b) - Rs.800

¢c) Rs.900

d) Rs.1,000

Which of the following is the lowest ratio?
8D TBS® s OF) g Hab?

a) 7:13
b) 17:25
c) T7:15
d) 15:23

10 years ago, Chandravathi’s mother was four times
older than her daughter. After 10 years, the mother
will be twice older than the daughter. The present

age of Chandramathi is : |
10 HosSBEwe B0ty So(5H0d SQedd %%eB%08 4

[o] M) zéd’n‘(»,JeS‘s 'aacg. 10 H085&)88me SBard SONIDH)
Z3m0 SAH0)B 2 BeR e (HE0 So(Bne S
Q0&?

a) Syecars

b) 10 years
c) 20years
d) 30 years

[Turn over -
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39. Atrainlcaves Agraat

40.

(18) [CB-B417
6AM and reaches Delhiat 10
Ma . 0
' ves Delhi at 8§ AMand
A.M. Another train lea 2 whattime P

reaches Agraat | 1.30A.M.

trains cross each other. ,
2.8 Den wre® aticso 6.00 oIS pdoen 30 3O
éécg)o 10 Kotk V&R $00@0E), Dev AdHS°
AaSo 8,00 Kotk adhedd BT 'O 11.30

o BtoBrotnod, B sBoth Pey & TR 2,58
$ahos® =8 BFow?

a) 9.26AM

b) 9AM

c) 836AM

d 8.56AM

The ratio between the speeds of two trains is 7:8. If
the second train runs 400 km in 5 hours, the speed

of the first train is : |

. Both By Ioodnd) NGB 7:8. BokSBen 5 Koberd®

400 868° Qrexy (HArHoDS, IosBBen @) o
dods?

a) 70km/hr

b) 200 km/hr
¢) 250 km/hr
d) 350 km/hr
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answer all the questions. (10x1=10)
'znc.’)a;leé) NAgegrSaen (SPaSnsm.

41. The present population of village ‘P’ is 2.5 times
the present population of village ‘QQ’. If after a year

the population of village ‘Q’ is 16,537 and has
increased at the rate of 15%. What is the present

population of village *P*?

‘P’ oo (oo o) e7eg (B8 Qe (s 2°e
Lo8 2.5 Bep. &8 VoSEBo Sthard ‘Qrrio @K
ssaoeye 16,637 S08A5» ©8 15% &go TIPS
BR[0T, ‘P’resvo Bw) (S8 edege dod?

a) 34,740 |

b) 38,560
c) - 36,820
d) 35950

42. A man sells calculator @ of Rs.250 each, which
includes a profit of 14%. What amount of profit
will be earn in 19 days Ifhe sells seven calculators
per day? |
0.8 %8 srenkgBd & 15 Soon 2500 STEPS SEed,
205HE® w58 14% %0 HEIMES eond ©8 19

Farerst 1 G T SoEDOEY ol 08D Q0D
ergo Do&?

a) Rs.4565

b) Rs.4665

¢) Rs.4545

d) None

[Turn over
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43.

44.

a) Rs.2520
"b) Rs.2800
¢) Rs.3150
d) Rs.4120

CB-B41 |
- (20) [ U

A. B. C enter into partnerShip and their Capltalsé

111 Awi half of
are in the pmp()rtion —3— :Z ‘ 75‘ A thhdraws Of
his capital at the end.of 4 m?nths. O-ut of the total|
annual profit of Rs.8470. A’, share 1s.

_l_ . _1_ _1_ 3:&)@@55;

A, B, Cé& a“é@"ﬁSoeS6 gRRQe™ TS

Sorersso egedn® DEEFHR0. ‘A’ 4 Jp0 5700 SBaeS
o3 Sreisd arers® Jrfo Ingo HBoEP TN, GOV

Sw¥o &)"gé erdio G847 Oed® A ot "Doé?

How much will a sum 0of Rs.12,000 deposited ata

rate of 9% per annum (simple interest) for 13 years |
amount to?

112,000 SoeR) Pt 9% S5 Jogrdes erdosh & 3
e 13 SobE)Bkwen B2 TS 0 dod @?13?63; |

a) Rs.26040
b) Rs.24040
c) Rs.14,040
d) Rs.16,040
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45. Thedifference between the compound interest and -

46.

47.

simple Interest accrued on an amount at the end of
three years at the rate of 15% is Rs.453.6. What is
the amount?
&8 Jngop SO 5§ ertsd Lo Sgshe doorr 3
Qodyorers 16% Bex (Hse8o Ei453.6 en eand eden
080 dog?

a) Rs.4500
b). Rs.6,400
¢) Rs.7,200
‘d)  Rs.8,000

The sum of 15% of a positive number and 10% of
the same number is 70. What is twice of that
number? | - |

2.8 B o8y & 15% S0 &8 208y B¥) 10%e0
%923 b 70. ©@00S & Joyy GBo¥), B0 Dend os?

a) 440
b) 280
c) 560
d 140

Manoj sold an article for Rs. 15,000. Had he offered_
a discount of 10% on the selling price, he wc?uld
have earned a profit of 8%. What is the cost price?
LSS 2.8 S50 GP115,0000% ST, 9B S5
e0S8RER 10% BZ0eS BT, S0 8% PG,
eagoi)mcfo. 0w D) I 58 08?

a) Rs.12,500
b) Rs.13,500
¢c) Rs.12,250
d) Rs.13,250 . [Tumover
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‘A’ started a business with Rs.40, 009, o fler
months. ‘B’ Joined him with Rs.60,000. ‘© Jo_t“’o
after some time with Rs.1,20,000. A¢ the end o;'[:lid
year out of a total profit of Rs.3,75 000, «c gete
Rs.1.50,000 as his share. How many months af $
‘B* Joined the business, did C Join? .
‘A'8S aryroeR) 840,000 08 (B0, Dot Teses
oo Sars ‘B’ 82160,0008° seesostns

48.

HrotHaed. 508 5700 oo &8 C 8o 120,000
o8° aPB06*08 SYTD. $0SE)T0EE® Ingo ergo
&m3,75,000 08 ‘C’ @& e M &°111,50,000 ex
0B, wawd ‘B’ ax@s08°A8 SIS dos ees

‘C’agr806°08 $3)° BenHol?
a) 4 months |

b) 5 months

c) 6 months

d) 7 months

1
— of the

The simple interest on a Certain sum is 1

sum. If time period and Rate pércentage be
numerically equal, find the time period?

49.

- 1
a8 dwdo D wdaaﬁé es3ngos® 1 L0, KNS

G

$Ban $ETe0 SoggHdtorr HEESDpS, KD SO

880508 ?

a) 1 Y%years
b) ~ Syears
c) Z2years

d) 2 “2years
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50.  Find the amount which Shyam will get on Rs.4096
if he gives it for 18 months at 12'42% per annum,
Interest becoming Compounded halfyearly.

B Koo 4096 o 18 oo, HoSEBI8 12%2% o
A, S8 6 Jved ™D Sgsh @ebo do8 ImwFo

OrOD?

a) Rs.5813
b) Rs.4515
¢) Rs.4913

d) Rs.5713
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| Q‘/—fc \,
?/ﬁ/ SEMESIER
AT THE END OF FOURTH EXAMIN ATIONS

FOUNDATION COURSES - AN
(COMMON FOR B.A, B.A (PHIL), B.S

Time : 2 Hours

I.  Answer all questions. | | (10x1=10)
Direction (1-5) : Study the following profile of parliament
carefully and answer the questions given below:
BI9S DeHads FEotsE HowosodS dore egrdore (1-5)
Eﬁé&oé: 23a°e0en Erd:’no&. . ' |
Profile of parliament.
Total Members in parliament = 640 (490 from loksabha
and 150 from Rajya sabha)
LGB0l Fog) S | |
FLDEER Ingo Behgen = 640 (655:5¢S 500 490 Hon
00k Teesgigs %09 150 Hr08).
Lok sabha Party Rajya Sabha
(No. of members) (No.of members)
280 A 90
180 B 45

30000 [Tumover

»
-B417]

[CB (CBCSPA'ITERN)

" (REGULAR) DEGREE

ALYTICAL SKILLS
c. B.COM (G)

F.T),
B.COM (V), B.B.A., B.C.A, B.S¢ (
B.Sc.(ANIMATION) BBA (DM))

(From the admitted Batch of 2015-1 6)
Maximum : 50 Marks
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) [CB-B417)

30 Others 15
490 Total 150

Sex :
435 Males 120
5 Females 30

Religion :
348 Hindus 85
Iy) Muslims 20
75 . Sikhs 35
25 Christians 10

Profession : |
300 Graduates 50
45 Business men - 19
60 | Educators 11
85 Unknown 70

What is the approximate percentage of the Muslim
members in lok sabha.

SESEESD s Homge SoRo Behse En) Babd FE0 J08?

a 9% ‘b, 11%
c. 13% | d 14%

In Rajya sabha if 30 male members are replaced by 30
female members, then what is the ratio of male members

to female members respectively?

orexeid’ o8 3¢ 30 00d HHDODH Sofod 30 yS0s® 30
5008 H%rFero HE"S), HHA S @ B0 A58 Ho8?
a 3:1 b. 3:2

c. 13 d 23
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What percentage of members in parliament are business

men?
FEDoLSE* o Buso e @l 280 Jo8?

a 8% . b. 18%

c. 10% d 20%

If all the “others’ party members of Lok sabha Join the
party ‘B’ then what would be the ratio between members
of party ‘A’ to the members of party ‘B’ respectively.
S’EXES° a88 D Sefgen wotstr ‘B’ § & Bosyond,
F§ ‘A’ S 8 ‘B’ Sgixe S 58 do8?

a 3:2 b. 6:5

c. 43 d 7:6

Out of total members of party ‘B’ in parliament. What
percentage of the members belong to Rajya Sabha?
FLDOSE 4 ‘B’ Fmo ebgen, st Hehg Soggs®
QD0 B°S07?

a 30% - | b 35%

c. 25% d 20%

Direction (6-10) : Study the following information

carefully to answer these questions.
&S mwxg@ggv exdbIo % (6-10) E’)goé 3TPe0eD
ask0l. | ‘

Percentage of Employees in various departments of an
organization and the male - female ratio.
2.8 S0$E° DD Jgrrrodtd ablve DB HOd

Dhen - Jo @08 358,

[Tum over
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4) ‘

Total Number of Employees = 2500

Protng
3]

N | Mateton

Male : Female Ratio.
Male Female

Department

Administration 5
Accounts | 2 3
HR 5 3
Marketing 7 8
IT 3 4
Operations 5 4
Logistics 6 5
Printing 2 1

What is the ratio between Male employees' in
Administration and printing departments respectively.

0o Dgrio dBA® a’mESea Qermrodtd HHRA éé‘éﬁ:o

S0 D087 |
a 74 b. 4:7
c. 34 d 73

What is the difference between total number of
employees in IT and operations departments.
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:534%) Do S0 [T Dgrrres® Ingo adlybe igie |

doe dod?
a 75 b. 150
c. 100 d 50
|

What is the ratio between total number of males in HR |
and marketing and total number of females in these two

departments respectively?

Srdyfioh HBas» HR Derrredtd HHhder Sbad e
Derrodt @o Sogigrio 58 dos?

a 13:15 b, 15:13

c. 13:17 d 174

9. How many female employees are there in HR department?

- HR 9griio8® $0TBainidig) & adiben 3080 d056?
a 250 b. 120
c. 125 d 150
10. What is the difference between the male and female
employees in logistics department?

‘eraRBy Deriod® HkK DO R ad’rve S Bae Jos?

| a. 50 ' b. 25
- c. 175 d 100
| II. Answer all the questions. (10x1=10)
11. 7 11 27 63 1272
a 237 b. 254
c. 234 d 227
12. Which of the following will come in the place of the
question mark?

BEgE0 (?) 6 T & Bos axpad T8S° Db S5?

‘ | ' [Tum over
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14.

15.

16.

(6) [CB-B417]

ZXW, USR, PNM, 2?2, FDC.

a. LI b. MKIJ
c. LKI d. KH
ACE : FHJ : : OQS :?
a. RTU b. TVX
¢c. = PRT d UWY
‘Music’ is related to ‘Notes’ in the same way as
‘Language’ is related to
Soh8o, SH BowoHoDSss, wBDForr Fh BId I8
$000H0DI0 -
a. Sentences . b. Combinations
SPSPgeD | - K)a@a’me:b
c. Grammar = d.  Alphabet
88830 : eF5S0en

Ina certain code ‘GOLD” is written as ‘5124 and ‘LIVE’
is written as ‘2983°. How is ‘VOID’ written in that code?
2.8 BAEDS &6 736" GOLD % 5124 $0a% LIVE %
2983 i (7%, 8 8% grid® VOID” % ddsore FX5?
a. 8194 b. 839%

o 8154 4. 8793
4612290315 |
a. - 25 . b. 27
c. 30 d. 45
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17. What should come to place of the question mark in the

18.

19.

20.

following letter series.
aroSdH0lS eEBEAst semgso 85 Sy eESow DD?
BE GJ LO QT?

a. UX b. VY

c. SV | d. RU

Study the following arrangement carefully and answer
the question below.

O3S dabals SHNH [FE S8 BrHS BHH BEreeso
asg0d. |
158421523456789514156874

If all the even digits are deleted from the above
arrangement which of the following will be tenth from
the right end of the arrangement.

B eSS F86° Kesong SBDIDS (8003) Stomes
S8 S EEns® HAZH 0D 10 § Sogg H6?

a. 5 ' b. 3

c. 1 - , d. 7

‘Rubber’ is related to ‘tree’ in the same way as ‘silk’ is
related to
Sy, Bt KomoRodss sBSE:$E® e B8 Sowodos?
a. Cloth ' b. Insects

c. Fabric | d. Weave.

Three the following four are alike in a certain way and
so form a group. Which is the one that does not belong
to that group?

[Tum over
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22,

23.

24,

| (8) [CB-B417]

(Boss B0l 4 Seredt 3 Soren o8 KRB %00000D%S.
wans SIPI% Sowogodd Hiso A?

a. Violin b. © Guitar
c. Flute d.  Sitar
Answer all the questions. (10x1=10)

3.65%3.65+2.35%x2.35—2x%3.65x2.35 _9

1.69

a. 1.69 . b. 2.35
c. 365 | d 1

o X 3 .
If 3x—Sy =35 and x+y—7,then(x—y)—.

- X 3 ‘

a 3 - b. 4
c. 6 d 9

What is the least number which when divided by
5,6,8,9,12 gives remainder 1 in each case and is
completely divisible by 137?

DB Somy 5,6,8,9,12 ©8° grRoDS 35w 1 e 0 13
3 grhoSm D3R &) Sogg H6?

a 361 b. 721

c. 1801 d 3601 -
Three numbers are in the ratio of 3:4:5 and their L.C.M
is 2400. Their H.C.F is
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26.

27.

28.

29,

B-b41/)}
) [C

2400.
o> Somgen 3:4:5 DB AR £0d50 8 8.3
oonS T8 K..5° 08?
a 40 b. 80
¢. 120 d 200
. ’ days?

. ¢ ) ‘
How many days are there in X weeks X

%’ aeoreth S %’ Slere TIPS O gheren @
b. 8x

ObIPOm.

a Tx’
c. ldx d 7 ,
How many times in a day, the hands ofaclock are straight?
2.8 B8’ S KBATFE0SR Swegen 8.8 VEEFOPD
Gotran? : _

a 22 | b 24

c. 44 | d 48

What was the day of the week on 28" May 20067

2008, 3 28 $ 8w DTo?

a.  Thursday '} b. Friday

c.  Saturday d.  Sunday

The angle between, the minute hand and the hour hand of
a clock when the time is 4.20.

HAAFE06° B0 4.20 SrHoSHHE) Kote Swey SO

Ao ey Hifste 8%o0 dos?

a. 0° b. 10°
c. 5° d  20° - l
Pointing to the lady in the photograph, seema said; “Her

son’s father is the son- in - law of my mother”. How is

seema related to the lady? |

[Tum over |
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32.

0§ DHSPE eidirgond S

)

“ep$D Ky&reoR) @335& 60@”‘6) S
oDHFED K8 O D0,

a  Sister b.
c. Cousin d.

In a certain code ‘S
‘RATRUFDOB’. How is

code.

s,

a.
C.

ax 487 & Do DPIRL
g 0 @35& @cg(f-). OV

Mother
Aunt

UBSTANCE’ is written as
“«TENTHOUSE’ written in that

2.8 PBERN w56 ‘SUBSTANCE' ‘RATRUFDOB’r®

o3 e56® “TENTHOUSE’ D adgore FREE?

SMDSIFTNP b. UOFUIDRIN
UOFUIFTVP d. SMDSIDRIN
(10x1=10)

Answer all the questions.

. Ifthe difference between the average ofx, yand y,z1s

12. Then what is the difference between x and z.
x, y 0 S8 Y,z © iy it B850 12. eowd x HdSso Z

o S5t 8o d08?

a.
C.

6
12

b.
d.

48
24

The sum of three numbers is 68. If the ratio between first
and second be 2:3 and that between second and third be
5:3, then the second number is. "

St @os8e 3o 68, IR HOAL Tokd eose ENVaS
QB 2:3 Hdasw BotH e eose 055 VB 5:3 @S

Bo&N
a

C.

Sogg Jod?
30
58

b.
d.

20
48
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33. The surface area of two spheres are in the ratio 1:4. The

34.

3s.

36.

ratio of their volumes js °
Botd Riesed oo surface area o N8 1:4 oS 8

A volumes Bk 0587
a 14 b. 1:2
c. 16 d 1:8

A bag contains Rs. 20, Rs. 10 and Rs. 5 notes in the ratio
of 1:2:4. If their total vlaue is Rs. 3000. then the number

of Rs. 5 notes is.

2.8 3008 &». 20, &». 10, &». 5 Sy 1:2:4 D5BS° a5y,
® Ingo Dend Er. 3000. eanss eKoDE® ¢ &r. 5 Sy I,
a 50 b. 150

c. 100 | d 200

Three years ago, the average age of ‘A’ and ‘B’ was 18
years. With ‘C’ joining then now, the average becomes
22 years. How old is ‘C’ now?

S JoSeBswe LéocSéa A 58050 B o $5ex Sgo) 18
R0oDg)Ba0eD. (SR80 ‘C’ A Seni) EFand 36 B isew
Baiy) 22 BoSEy5EPeD @ ‘C’ G kS Sy dos?
a. 24 years b. 27 years

c. 28years d. 30years

15 years Hence, a man will be just 4 times as old as he
was 15 years ago. His present age is. |

&8 &8 15 Sosd)ine shard ©8d 15 Ro&)Boe (8ot

SRS 4 Bey wonis @8 (S8 By J08?

a. 10 years b. 15years
€. 25years d.  20years
[Tumn over
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38.

39.

(12) [CB-B417]

certain distance is covered at a certain speed. Ifhalf

The |
n double the time the ratio of

of this distance is covered i

the two speeds is :
oK [Hres BPOeR 88 [ereds B08° BHES, Hifo BT,

390:3 oot 308 P Botd Sree ANy Ko QB Qo&?

a 41 b. 1:4

c. 21 : d 1:2

A train is moving at a speed of 132 km/hr. Ifthe length of
the train is 110 m. How long will it take to cross railway
platform 165 m length? |
2.8 Den Koo 132 Budd r08° HAsrBoHDHP0. © Ben
Go&) P& 110 et o 165 Hon reoHise a8 Bew 3R
Do TS T ©b dod 3Habo 8bHotnod?

a 6sec b. 7.5 sec

c. 17sec d 8.5 sec

The expenses on rice, fish and oil of a family are in the
ratio of 12:17:3. The prices of these articles are increased

by 20%, 30% and 50% respectively. The total expenses
of the family are increased by :

2,& Einomo Go¥) Hasso, BHen D035 L3 PENO A8
12:17:8. & SR Hben SBdre 20%,30% H83S» 50%
28AS, & Hewowo B FnFo NS 1HHEe Jos?

1
a. 14§% b. 7%%

1
— 1
C. 568% d. 285%
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40. By increasing the speed of his car by 15 km/hr, a person

42,

43.

covers 300 km distance by taking an hour less than before
The original speed of the car was :
28 S8 83 st @w) Jo 16km/hr BodLO TEO®

300 81, Eroe) BOSKH 0o gol) &8 Kot B5p
IHAHE® SHEHHOMD, wans St Bl eden Sro Jo8?

a. 40 km/hr b. 50km/hr

¢c. 60 km/hr d.  75km/hr
Answer all the questions. (10x1=10)
(37.1% of 480) - (? % of 280) = (12% of 322).

a 376 b. 39.6

c. 49.8 d 524

Three candidates in an election received 1136, 7636 and
11628 votes respectively. What percentage of the total
votes did the winning candidate get?

28 IS Sorhth oo SKHSe 1136, 7636 H00
11628 &.ép SNSD. ©ond RendPodS &8 SrodS L& aodo
3o £.6° Jod?
a 11.6% - | b. 60%
c. 76.4% d 57%

If the cost price of 4 thihgs be equal to the sale price of 3
things, then the profit percentage is : |
4 S0 eden O 3 SpHe elyso FH BRSPS oo

20&? 2

| 1
a 25% -~ b. 333%

.
c. 37=% d 40%
2 [Tum over

Scanned with CamScanner



44.

45.

46.

-B417
(14) [CB ]

A Vendor bought toffees at 6 for a rupec. How many

for a rupees must he sell to gain 20%.

28 oS0 D% 1 Erdvond 6 SRS 5"6?”"’
o8 83D 20% evgrQ) 8QoSHLH sy 1 Godrond Y

SO,

T3 O OIRIBK?
a 3 b. 4
c. § d.  None

A,B,C became partners in a business by investing money
in the ratio 5:7:6, Next year they increased their
investments by 26%, 20% and 15% respectively. Profit
earned during second year should be distributed in the

ratio.

A.B 80 C & .8 amyr06® grrigent Digaibed 5:7:6

DPBE S0, SBHB0 SosBot® > B egmihe

26% 20% 850 15% 20O, @aS Boks KosdEos?
T8 ergre A8 dod?

a 21:28:23 b. 26:20:15
c. 31:27:21 d  None

:? and C started a business, each investing Rs. 20,000
‘Cfr 5 months ‘A’ withdraw Rs. 5000, ‘B’Rs 400(3 anCi
Invested Rs. 6000 more. At the end of the year, the

total profit of busine
share of ‘B’? 53 ‘was Rs. 69,900. Then what is the
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48.
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AB $0aw C &° ety 6. 20,000 en SGps 5608
wgd;o-‘& BoTH? 6 Jvo srwo s ‘A’ ESDeys
$00 Gr. 5000 Ho0ck» ‘B’ &r. 4000 ev DERDEOOR
25R000DHTD PS8 buIbart). vof T8 ogo
S05%)008ENS &, 69,900 wows wotHe® ‘B’ o) Ter

dod8?
Rs. 20500 - b.  Rs. 21200

a
c. Rs. 27300 d. Rs. 28200
A man deposited Rs 400 for 2 years, Rs. 550 for 4 years

and Rs. 1200 for 6 years. He received Rs. 1020 as the
total simple interest. The rate of Interest per annum is.

2.8 S58 6. 400 0% BotH HoSETe, &r. 550 o Teenrd
SoSgyored HOAM Er. 1200 0 6 HoSHTreH B

DaDEFH0. @8 Fno xS FPdes &t $E KseS0 &, 1020ew

PoBTD. oS erth $§ Tew Jo?
a. 8% b. 10%

c. 15% d 20%

At what Rate of simple interest a certain sum will be
doubled in 15 years?

%8 vgo 15 Sosdyores® Bob Bey erbws amhsd Hedo
34 Ben does? |

1

& 57% pa b. 6% pa.
2 |
k 63'% p.a. d. 7%% p.a.
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49. How much would a sum of Rs. 16,000 approximately
amount to in 2 years at 10% p.a compounded half - yearly?

g, 16,000 ev !’5[:‘135§ Bs~do BotH 5056'300065 10% Bén

"0 @RoSE)Bo & &80 54 B80S o8 eib?
a Rs. 17423 b. Rs. 18973
c. Rs. 19448 | d. Rs. 19880

50. A sum is invested at compound interest payable
annually. The interest in two successive years Rs. 500
and Rs. 540, The sum is. |
& e DOSEOB HESE (5700 DegalDGS, Botd SBD
Sosdores® $& Amgo &r. 500 Hdcko &r. 540 e

BEOBEHVH. ©ONN BV Swdo dod?
a. Rs.3750 | ~ b. Rs. 5000
c. Rs. 5600 d Rs. 6250
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AT THE END OF FOURTH SEMESTER (CBCSPATTERN)

(REGULAR) DEGREE EXAMINATIONS

FOUNDATION COURSES - ANALYTICAL SKILLS

(COMMON FOR B.A., B.A (PHIL), B.Sc. B.COM (G),

B.COM (V), B.B.A., B.C.A, B.Sc (F.T),
B.Sc.(ANIMATION) BBA (DM))

(From the admitted Batch of 2015-16)

Time : 2 Hours - Maximum : 50 Marks

L.

Answer all questions. , (10x1=10)

Direction (1-5) : Study the following profile of parliament
carefully and answer the questions given below:

BrHS HoHedS G0 Ko050DS HSTre errdore (1-5)
E.’Jra;péa 235T°20e0 E:r"clﬁao&.

Profile of parliament.

Total Members in parliament = 640 (490 from loksabha
and 150 from Rajya sabha)

Fgols T [BFpS
FER08E% Ingo Vabgen = 640 (5°55E $Hod 490 Hod
SHBakn TrgE S0 150 Hood).

Loksabha Party Rajya Sabha
- (No. of members) (No.of members)
280 A 90
180 ' B 45
30000 | [Turn over
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30 Others 15

490 Total 150
Sex

435 Males 120

5§ Females 30
Religion :

348 Hindus 85

42 Muslims 20

75 Sikhs 35

25 Christians 10
Profession :

300 Graduates 50

45 Business men 19

60 Educators 11

85 Unknown 70

What is the approximate percentage of the Muslim
members in lok sabha.

EPE5g565 Dehye Somgge oo Hghge @) HH TS0 JoJ?
a 9% b. 11%

c. -13% d 14%

In Rajya sabha if 30 male members are replaced by 30

female members, then what is the ratio of male members
to female members respectively?

orayesd® el 3¢ 30 $0b HHHOdH Fohod 0 3;26065 30
208 HBrtord HOEN), HBL DO [§ Vgho IHB J08?
a. 3:l b. 3:2
c. 1:3 d 23
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What percentage of members in parliament are business

men?

FEDot5E° agarso Do She @) FE0 J08?

a &% b. 18%

c. 10% d 20%

If all the ‘others’ party members of Lok sabha J oin the
party ‘B’ then what would be the ratio between members
of party ‘A’ to the members of party ‘B ’ respectively.
&6 agl Y $ahyer woldr ‘B’ 8 &° BodLo0s,
6 ‘A HBcso ar§ ‘B’ Habge i A8 2087

a. 3:2 b. 6:5

c. 43 d 7:6

Out of total members of party ‘B’ in parliament. What
percentage of the members belong to Rajya Sabha?
PEot5E% 8 ‘B’ Fmdo Sghge, Teassgs®R Bgige Soggs®

2od F°S07?7

a 30% - b. 35%

C.miw25% d 20%

Direction (6-10) : Study the following information
carefully to answer these questions.

oS ‘éérw&&w[ﬂém A eVNe) =2 (6-10) @é&oéa £3aT°2DeD
a{)So&.

Percentage of Employees in various departments of an
organization and the male - female ratio.

2.8 $oPs’R D Dgrrodtd a&tive DY Hod
RBven = @o G@0s), APE.

[Tumover
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Total Number of Employees = 2500

Priming

Male : Female Ratio.

Department Male Female
Administration 7 5
Accounts 2 3
HR 5 3
Marketing 7 8
IT 3 4

- Operations 5 4
Logistics 6 5
Printing 2 1

What is the ratio between Male employees in
Administration and printing departments respectively.
DBTroTe Dgrrio Bk '26:0@86 Derrostd HBR 63553630
BB0 D0&? '

a. 7.4 b. 4.7

(CENC Y d 7:3

What is the difference between total number of
employees in IT and operations departments.
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11.

12.

(5) [CB-B417]

63?.’3?5%.’.15“) Derrso 5908w IT Derrrerdt Ado e‘sﬁigﬁw soEiie
8o Jois?

a. 75 b. 150
C. 100 d. 50
What is the ratio between total number of males in HR

and marketing and total number of females in these two
departments respectively?

SrO)3oh 50w HR errrod® fHihden 005 esche
Derrreds® @op Sotigrie DB dod?
a. 13:15 b. 15:13

c. 13:17 d 174
How many female employees are there in HR department?

. HR Qerioes® éﬁ)admx:ﬁaé&@ ds&isrsﬁaen Ao Dotst?

a. 250 b. 120

c. 125 d 150

What is the difference between the male and female
employees in logistics department?

‘orREY Derrfod™ HEi BB Y ey S Boe dod?

a. 50 b. 25
c. 175 L d 100
Answer all the questions. (10x1=10)
7 11 27 63 1272
g - 237 b. 254
. ¢ 234 " d 227

Which of the following will come in the place of the
question mark?
HaEngso (7) &y e & (Elaetalay THSE® DB Si%%?

[Turn over
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14.

15.

16.
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ZXW, USR, PNM, ?, FDC.

a. LIl b. MKJ
c. ILKI d. KIH
ACE : FHJ : : 0QS :?

a. RTU b. TVX
c. PRT d. UWY

‘Music’ is related to ‘Notes’ in the same way as
‘Language’ is related to

HoAdo, S Bo0ohodI6, 0B3DSorT PR IO BIE

Q0D0HOVIE P

a. Sentences b. Combinations
‘ ms:_gen a:@éren
c. Grammar ~d. Alphabet
Tog88e0 egBanen

In a certain code ‘GOLD’ is written as ‘5124’ and ‘LIVE’
is written as “2983°. How is *VOID’ written in that code?

28 (HEEDS 86 s GOLD & 5124 6w LIVE &
2983 e (TR, 0 B gr6® VOID” 5 ddggore (o :?

a. 8194 b. 8394
c. 8154 i 8793
4612290315

a. 25 b. 27
ot d. 45
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18.

19,

20.
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What should come to place of the question mark in the
following letter series.

BIosdEHDES ©EHEAST Hansto $E Siy egtoes DI?
BE GJ] LO QT? |
a. UX b. VY

c. SV d. RU

Study the following arrangement carefully and answer
the question below. |

%5 DoHadS [SKHHd ta’cérw 36D &%HS E’Jé‘g_é: Vaoeprdo
8\&’330&.
158421523456789514156874

If all the even digits are deleted from the above

arrangement which of the following will be tenth from
the right end of the arrangement.

25 aSpasS FBS° $odomgeih SHDIV ($2)0DK) Sard
K85 S Eodnos® HAH H0d 10 & Jomg 67
as'#:5 ‘ b. 3

T | d. 7

‘Rubber’ is related to ‘tree’ in the same way as ‘silk’ is
related to

e, Ben® H0w0oDS BTBEEISE® ) B8 KowoHodHe?
a. Cloth ' b. Insects

c. Fabric d. Weave.

Three the following four are alike in a certain way and
so form a group. Which is the one that does not belong

to that group?.
[Tum over
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21.

22,

23.

24.

(8) [CB-B417]

8o aiwld 4 Sred® 3 Suren 2.8 E{P@Fﬁé 202080033,
Do BrHDH 20208508 HBo HW?

a. Violin b. . Guitar
c. Flute d. Sitar‘
Answer all the questions. (10x1=10)

3.65%3.65+2.35%2.35—2x%3.65x2.35 _o
1.69

a. 1.69 b, 235
c. 3.65 d. 1

x. 35
If 3x—5y=>5and x_+y_='-7-’ then(x — y)=?

X -
3x—5y =5 e®and &bk x+y=7 w0 (x — y)=?
a 3 b. 4
c 6 . d 9

What is the least number which when divided by
5,6,8,9,12 gives remainder 1 in each case and is
completely divisible by 13?

2895 Sosy 5,6,8,9,12 08° grA0DS Bk 1 Bt 13
B grhose BR[0T 6 Sogg d6?

a. 361 b. 721

c. 1801 d. 3601

Three numbers are in the ratio of 3:4:5 and their L.C.M
is 2400. Their H.C.F is
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27,

28.

29.

9) [CB-B417]

Kot omgen 3:4:5 DPAS® a5 H0cky B .. 1H 2400.
o a8 5. .67 Qo8?

a. 40 b. 80

c. 120 d 200

How many days are there in ‘x’ weeks x’ days?

Y ool X Seve THPS Y SPeren doérow.

a. Ix? b. 8

c. l4x d 7

How many times in a day, the hands of a clock are straight?

2.8 Bar6® DY KEAPE0E™ Soenen 28 HEE0PP

Sotran? |

a. 22 b. 24

c. 44 d 48

What was the day of the week on 28" May 20067

2006, b 28 & 50 daB0?

a.  Thursday b.  Friday

c.  Saturday d.  Sunday

The angle between, the minute hand and the hour hand of
a clock when the time is 4.20. '

KAGSPE0S HacH0 4,20 BP0 Kote Soey B

Dare Swey Sigie §eo 087

a 0° b. 10°

¢ P . o d. 20°

Pointing to the lady in the photograph, seema said; “Her
son’s father is the son- in - law of my mother”. How is

seema related to the lady?
: [Turn over
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(10) [CB-B417)
¥ B:J t‘.,D"t'x
o PG oEmond Sebin h & DEgore BPLRG
- S 2 - S

: y €9ENED. OOMH
“dd HIPHY @) éo'@ﬂ"t’n S8 0 ) O

ePHEPED K88 HidH DHHHOD.

a. Sister A
¢. Cousin d. utl

In a certain code «SUBSTANCE?’ is \Yrittf:n as
‘RATRUFDORB"’. How is ‘TENTHOUSE’ written in that

b. Mother

ébdc.
2.5 L‘{ﬁgé@_::s RS ‘SUBSTANCE’Q ‘RATRUFDOB’ e

%, o8 g6’ “TENTHOUSE’  ddtor [r5?

a.  SMDSIFTNP b. UOFUIDRIN
c. UOFUIFTVP d. SMDSIDRIN
Answer all the questions. (10x1=10)

If the difference between the average of x, y and y,z is
12. Then what is the difference between x and z.

X, y e H000» Yz © Ky Srfen Bgo 12. ewawnd x 58k z

© Do o> Jod?

a 6 -b. 48

c. 12 d 24

The sum of three numbers is 68. If the ratio between first

and second be 2:3 and that between second and third be
5:3, then the second number is.

Srto ©0Be dnZo 68, AnGB HOE® BokS @oBe DN
D58 2:3 B Bod [apisS ®o8e) a’ncﬁs "Oa’mg 5:3 @l
Bo&S Hopy Jos? ’

a 30 b. 20

c. 58 d 48
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33. The surface area of two spheres are in the ratio 1:4. The

3s.

36.

ratio of their volumes is :

Botd Reesed wibo surfuce arca o A58 1:4 wond &8
@A) volumes awt) AHH?

a. 14 b. 1:2

c. 1:6 d 1:8

A bag contains Rs. 20, Rs. 10 and Rs. 5 notes in the ratio
of 1:2:4. If their total vlaue is Rs. 3000. then the number
of Rs. 5 notes is.

28 H0DE® Er. 20, &r. 10, &r, b &y 1:2:4 AHBS® aFHD.

& Ao Deosd B, 3000, wonid eHoDS® &) e, b Sy Y,
a 50 b. . 150

c. 100 \ d. = 200

Three years ago, the average age of ‘A’ and ‘B’ was 18
years. With ‘C’ joining then now; the average becomes
22 years. How old is ‘C’ now?

Soovto BoHBEEDO (Botss A $Batn B o dritn Sabiy) 18
dosd)ssme. (S50 ‘C’ D Lot Eion8 570 Gt ik
Sty 22 SoBdsimen wond ‘C7 T RS Saiiy) Jos?
a. 24 years b. 27 years

c. 28 years d. 30years,

15 years Hence, a man will be just 4 times as old as he
was 15 years ago. His present age is.

a8 &8 15 BoSd)BEne SKard ©dd 15 SosSow Boss

S35:0)5E 4 B el @8 (8 SADKY) dod?

a. 10 years b. 15 years
c. 25years d.  20years
[Tum over
r
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37.

38.

39.

' 1
C. ‘565%

(12) [CB-B417)

The certain distance is covered ata ccrtatl.n ng]f:;-;tfihalf
of this distance is covered in double the tim 0 of

the two speeds is B
o8 (s PR o & @ngyog%é $K08° BHED, Vo &ro=yy,,

B3B0%) sreost BOS B Vo Frre iy o 0B 2087

o 4:1 b 1:4

c. 2:1 d 12

A train is moving at a speed of 132 km/hr. If the length of
the train is 110 m. How long will it take to cross a railway
platform 165 m length?

2.5 Ben Kot 132 8idd 308" EJOﬁJ“E%OIﬁJrﬁJ:)&&. &3 Ben
Go¥) ey 110 Soeathy evowiS 165 Eon SRt a8 Ben apts
B0k TrentatH e b dod K¥xcho Hi0H0enod? |

a. 6 sec b. 7.5 sec

c. 7sec d 8.5 sec

The expenses on rice, fish and oil of a family are in the
ratio of 12:17:3. The prices of these articles are increased
by 20%, 30% and 50% respectively. The total expenses
of the family are increased by :

28 Binono @8 dahgo, Dhen Wb (I P Y

12:17:3. & S0P Fden SEIT 20%,30% LS 50%
20N, @ Hitnono Gk Fogo PByEE BLIDEe Dod?

1
= 1

1
d. —0
288 /6
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By increasing the speed of his car by 15 km/hr, a person
covers 300 km distance by taking an hour less than before
The original speed of the car was :

a8 B8 85 =28 Bwg) SKo 15km/hr boJbo &TFo°

300 8nabers, Eroed) B08H Ewold %08 2.8 fob 8K
DaHos® THEHOMrD, wons 528 @) ®deD 350 D0d?

a. 40km/hr b. 50km/hr
C. 60 km/hr d  75km/hr
Answer all the questions. (10x1=10)

(37.1% of 480) - (? % of 280) = (12% of 322).

a. 37.6 b. 39.6

c. 49.8 d 524

Three candidates in an clection received 1136, 7636 and
11628 votes respectively. What percentage of the total
votes did the winning candidate get?

el dYBC Ewrpdh shoh Shidm 1136, 7636 HOUD
11628 Ly S50, s ReodrodS i SrobdS L4 o
Avgo LS° 087

a.  11.6% b. 60%

c. 764% d 57%

If the cost price of 4 things be equal to the sale price of 3
things, then the profit percentage is :

4 S0 oo 8 3 SpJe oo LIH TS ogrdo
Qod?

1
259‘6 b. 335’%

04 d 40%
[Tumover
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43.

46.
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| 6 for a rupee. How many

A Vendor bought toflces a
v ain 20%.

for a rupees must he sell Lo &
28 wiylo ot 1 trarons 6 ey ERnTe :'sjoef,)_
oond w&:H 20% ergr) e—sgoxﬁ:éoé P 1 BaPomS &R

98¢5 < eXsBH?

Gait - 5 d. None

A,B,C became partners in a business by investing money
in the ratio 5:7:6, Next year they increased their
investments by 26%, 20% and 15% respectively. Profit
earned during second year should be distributed in the

ratio.

A,B Soaiw C&° & 3333“6065 @ﬁ‘{gmm Degotoeld 5:7:6

586" soTD. EHHO HoSH)BoS® T 0 ERDHOD

26%, 20% $:8050 15% oI, ©00d BOER éoéé{géoé‘s
6 ovgre QB J08? |

2.  21:2823 b.  26:20:15
c. 31:27:21 d. None

A,B and C started a business, each investing Rs. 20,000.
Aﬁc?r 5 months ‘A’ withdraw Rs. 5000, ‘B’ Rs. 4000 and
"C” invested Rs. 6000 more. At the end of the year, the

total profit of business was Rs. 69,900. Then what is the
share of ‘B’? .
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48.

A,B 0cm C & et 8. 20,000 en S°5pi aaros”
2D doTrh? b Jvw sPoo Shrsd ‘A SSdigad
oD &r. 5000 &Hocsy ‘B’ G 4000 e tpetiomd
AOVOTOODHHTND (FEH BIvTL). Hog @) &0
SoDEYT oS80S B, 69,900 wowi wothd® ‘B’ Gns) arér
Q08?

a.  Rs. 20500 b. Rs. 21200

c. Rs. 27300 d.  Rs. 28200

A man deposited Rs 400 for 2 years, Rs. 550 for 4 years
and Rs. 1200 for 6 years. He received Rs. 1020 as the
total simple interest. The rate of Interest per annum is.

2.8 $58 8. 400 % Boh SodreD, &r. 550 o Teenid
HoBETe HBck Er. 1200 o 6 HosEreH B

. B, BD Fgo s Frte o S [t &, 1020

DobRr. womid & $& Ben Jo¥?

a.- 8% b. 10%

c. 15% d 20%

At what Rate of simple interest a certain sum will be

doubled in 15 years?
2.8 3ndo 15 :605565'30’965 BotH By erHL® eavtiséé E.Ssvtso

56 Bew Jo8?

a. 5-;-% p.a. b. 6% p.a.
2 1,
C. 6—5% p.a. d. 73 % p.a.
[TmnoVer
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